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33661114 Sbblnwihy 0,005% 24; < hwun 0 6000 0.0
33661114 Sblnwlhy 0,005% 24 K hwtn 450 4000 1800,0 |
33661120 Unp$hth hhnpanpin 1%-14d; < hwin 450 1200 540,0
33661123 Sphdbwhpnpu 2%-14y < hwin 0 500 0.0
33661136 ")-hwqhu‘wwdl B hwn 100 2000 200,0
33661135 Uhnuwgnpu 15uq 34 < huwin 428 500 214,0
33691176 Upnbuyjug S0dq/500; Q< hwin 0 140 0,0
33691176 Upnbuyjwg 50ug/504; < hwwn 169000 100 16900,0
33611350 _Uulnpphlwppen: 5%-51) < hwin 0 12000 0.0
33611350 Uulnpphliwpey 5%-24) Q< hwun 35,5 12000 426,0
33611130 Unpnwhbh uny$bwin 10dnyp 0,1%-10 < hwiin 55 3500 192,5
33621160 udhhnymuqnnhwppm 250 4y 9L hwin 0 990 0,0
33621160 Utfhbnutuu.mnhwppm 250 4y S hwin 1100 270 297.0
33631370 lenl.uumnhnulh pbghjwin 10dg/i-2,54 < huwn 309.9 2000 619,8
33661183 Shuwmgwl;mphmdh pquwlm/Z.Sdl < huwn 0 1000 0,0
33661184 Shuwinpul iphnuwh phighjun SUg/2,50 K hwin 1008 500 504,0
33661115 Prughduwlught 4 s hwin 214.8 1200 257.8
33691138 Hiniyng 5%-2504; bl hwin 2459 1200 2951
33691138 Yynilyng 5%-5000; < huwin 255.9 4800 1228,3
33691138 Synihng 40% 5 9< hwin 0 3000 0,0
33691139 Synilyng 40% 50y Q< hwin 37,97 1500 57.0
33661153 THapuwibtipwant whiwluph 104 9< hwn 0 40 0.0
33661153 ’szumdbmnb whbiwlyuwph 104; < hwin 610 38 23,2
33661153 Mipuwidtinwagnt Adg/dp-1; < hwin 234 10000 234,0
33671130 Hhptthhnpwihl 1%-14; Rad huwin 20,8 40000 832.0
33621400 Yowwiht 40dg/; 54; B hwin 580 1500 870,0
33611170 Ypnunwytiph 40dg/d) 24 < huwn 36.8 2500 92,0
33611170 Ipnuinwbphts 40dq 9L hwin 6 1200 7.2
33631310 THlinpbliwl 75 dg 34; Q< hwn 67,8 12000 813,6
33651127 “npuhghlyhtih h/p 1004dg < huin 133,19 1000 133,2
33621760 Buwwiynh; 10dq < hwn 4,85 15000 72.8
33691202 Bunnwdghwin 2500q/0; 24 9< hwwn 150 7000 1050,0
33621290 Ewptbpphts Jwnpbwiht/ 0,12%-10 L hwn 80 2000 160,0
33611370 QthMSOdq/dl Tdg < hwtn 26,9 5000 1345
33661113 Bhnwblinw, Uwinphnul 1,0q < hwn 2840 480 1363,2
33691141 fBpYwdhl pdolywlut 9< hwin 0 8000 0,0
3366110 banpynipuits 2504, < hwin 0 200 0,0
33661110 __Pan$ynipwls 2504 QL hwn 30000 10 300,0
33661110 Panynipwt 1004 < hwin 74499 800 5959.9
33691176 hunnutunwghl dndhly < hwn 0 480 0,0
33631283 Lhqhlnunhy 10dg ¥ | hwn 12,5 4800 60,0




33661116 Lhnnlwihth hhopnpiphn, 25%-204d, 92 | hum 756 500 3780
33651138 Lun$inpuwight 1-p Wh 0.5% 100u; 9L hwn 0 600 0.0
33651138 Lun$inpuwghl 1-p /b 0.5% 1004; K hwin 1019,9 200 204,0
33651138 lehnpuwgpb nthin 500ug L hwin 78,8 2000 157.6
33611420 “wighnwh gynihntiwn 10%-50; G< hwn 88 2000 176.0
33691134 Ywihnuih pinphr 4%-2000; < hwn 468.8 300 140,6
33691213 | Yblnwbh Ywpbwpedwhu pulynbinhwbp / Lwphub K hwwn 0 6000 0,0
33651212 Cwhunpuynwgdwl wawnnpuhl 0,54 < hwin 550 600 330,0
33621100 Shugwinhls 50000d/d) 50; 3<_ | hum 938 16000 | 15008,0
33691814 <pnpopuhtphy oujw 6% 5000, < | huwn 3500 210 735.0
33621610 Uwbhunn| 10%-4000; A< | hum 850 350 2975
33601218 | | wabbahnul wuspununh wbnpuhfrpwin, Gubnd [ sk 480 1500 720,0
wuwwnnwinh hidhhhnawn 104
33691145 Uwqubighnd unybun 25% 50y 9L hwn 28,45 8000 2276
33661127 Ubnwidhqny bwinphnul 50% -24; G< hwn 37.6 40000 1504,0
33611160 Ubinnlnuipwihn 5q/4) 24; S< hwin 411 12000 493.2
33691112 Ubwnpnupnuqng 1004; q< hwitn 199.8 10000 1998,0
33651139 _ Unpuh$iopuwghl witiwluphy 0,5% 50; < hwun 1199,9 40 48,0
33651139 Unyﬁﬂoguwgbb 2504; 9L huwn 0 1800 0,0
33691154 Snhtipun 1004 < hwn 8650 1000 8650,0
33691154 Snhbpuny 500 9< | humn 4900 2000 9800.0
33691157 Snnhipuwling 1004 < huin 0 180 0,0
33691157 Snnhpuwling 1004 9L hwn 17000 60 1020,0
33691136 Lunnphnuh pinphn 0,9% 2500 < hwin 0 36000 0.0
33691136 Lwwnphnuh pinphn 0,9% 2504 Q< hwn 221.6 18000 3988.8
33691136 LW“‘F"'MM 0.9% 1004; 9L hwn 0 19200 0.0
33691136 Lwunphnulh paphn, 0,9% 1004, 9< | hun 2156 9600 | 2069.8
33691136 Lwwphnush pinphry 0,9% 5004 < hwwn 0 45000 0.0
33691136 menhMﬂMO,Q% 5000 K hwn 2274 22500 5116,5
33691136 Luunphnulh pinphn 0,9% 10004 < hwn 0 24000 0.0
33691136 Luwwnphnuih paphn 0,9% 10004 < hwn 268.8 12000 32256
33691136 menhnthn 0,9% 3000u4; < hwwn 0 150 0,0
33691136 Lunnphnudh pinphn 0,9% 30004, %< | hwn 1500 45 67.5
3s6on29 | wsnnnuh pinpho, S e ool | gz | wn 0 24000 | 00
—_pinphn, S04
3369129 |  wnhnulh piophn, L‘"‘"‘s";‘g'; R | af | oo | 204 | 2o | zass
pin
T G el S GG

33691129 anhn 2504 9L hwn 2273 1200 272,8
33691135 Lwwnphniush phljwppnbiun 8,4% 204 L hwn 0 800 0.0
33691136 Luwnphnudh phlwppnbwn 8,4% 204 QL hwin 1008 200 201,6
33691133 Lbpwpldwb gnip 30004 K hwwn 0 1400 0,0
33601133 Ubipwpldwl gmip 30004 %< | hwn 1500 450 675.0
33621330 Lhbtipwihn 25%. 20( < | hun 0 1500 0,0
33621330 Lhlbpwdhn 25%- 2 9<_ | humn 178 280 498
33611390 Mhphnnguht h/p 5% 14 < | hun 0 15000 0,0
33611390 Mhphnnpuhl h/p 5%- 14 L hwin 229 8000 183.2
33631350 Mhwblnipnubnulh ppnihn 4uq/2u) 9L hwn 0 3000 0,0
33631350 Mhwbynipnthnulh ppndhn 4dq/24; QL hwin 1037,53 1500 1556.3
33631230 Mnyhnnl jnn 10%-10004; Q< hwwn 2900 300 870,0
33661170 Tpnluwihl /Gndnluwihty 0,5% 2500; < | humn 504 120 60,5
33661181 Ulin$yninwl 2500; K huwin 0 80 0,0
33661181 Ulinynipwts 2504; 9L hwwn 37780 40 1511,2
33631360 Unipuwibipnupnud 2% 54; A< hwtn 189.9 2400 455,8
33621730 Ybpwuwihy 0,25% 2u; L huwn 100 300 30.0
33621240 Shwynpwiwdhs 500ulq 14} 9L hwin 0 3000 0,0
33621730 Shwblynpuwwiht 500dyg 10 < | hwn 26.9 1000 26,9
33691236 Linpnuhpwdhh khapnpinphn 200 14 < hww 107.5 600 64,5




33611100 Odbwpuwign| 204q 9L hwin 9.3 30000 279.0
33641100 Opuhinnghl - SUUY 14 < hwtn 177 4800 849.6
33691191 &mu&;n[huqhqbbp/l'ubhgbw@d[ < hwin 630 400 252,0
33691823 bnpduwnbhhn/nidnype < g 350 1200 420,0
33651245 Sbdghunuwphl 10004 QL hwin 0 150 0,0
33651245 _Stughunwphl 1000dg < hwitn 99999 50 500,0
33651227 Twlwppwghl 200dq Q< huin 0 100 0,0
33651227 Thuljwppuighti 200dq 9< hwun 6999,9 10 70,0
33651230 Topunnniphghts 21/ 250 L huin 0 200 0.0
33651230 Tropunnniphght 2dg/d; 254 < hwin 7950 50 397.5
33651231 Eunnwnghn, 100ug/54, Q< hwin 0 200 0,0
33651231 kwnnwnghin 1000g/54, < hwin 3699.9 120 444,0
33651243 Nulyhinwpuby 100dg/16,7 g < hwin 0 400 0,0
33651243 Nwbihinwput) 1000q/16,7 U Q< hwin 9000 200 1800,0
33691280 Shuwyuinpl 0,5 dg/s 100d; R hwn 0 200 0.0
33691280 Shuwjjuinht 0,5 dg/u; 1004; < hwtn 7999,8 120 960,0
33651248 Opuwihuyjunnhls 1004dq 9 hwwn 0 150 0.0
33651248 Opuwihujwinht 100dg Q<L hwin 7986.6 50 399,33
33651241 Dunpnipwgh; 5004q < hunn 0 150 0
33651241 Sunpnipuighy 5001y < hunn 3799.8 10 417.978
33661131 Dhunpwpphuinwg nhin 100dq < hwn 0 102 0
33661131 dllnpwnphunw nhin 100dq < hwwn 20 100 2
33691176 Ughupnihghls ogwpuly 200dg/54) 37,54 < hwin 0 30 0
33691176 U.qhmpndt_rghh Qgupwly 2004q/5d| 37,50 K hwn 2400 16 384
33651163 Udhlwght 500ug/2(; < hwwn 0 100 0
33691176 Udhtinybl hu$wlin 1004, 9L hwn 4080 40 163.2
hghiht/
336511 . mbwu‘bf“ bt i % | hun 0 30 0
33651110 Udwhghih 0,5 4L husn 215 1000 215
33651110 Udwhghihu 1,0 Q< hwin 255 1000 255
33651111 udopuhgmbh/gngnqwhwppm uny.1000dg+200dq L hwn 0 200 0
33651111 M@%qwhwml uny.1000dg+200uq 9L hwwn 1200 100 120
33611350 Uulynpphtiwppen, nnuAngnhn 9L huin 9 1000 9
33691728 Ubignt fulid, putipnnpu 40q < hwn 218 40 872
33631210 Phnwidbipwgnt punip 1dg/g 15q 9L hwin 0 20 0
33631210 Pbnwibpwgnl punip Tdg/q 15g < hwin 900 10 9
Puypwwnpnuyhnuwh ppndhn, $blninbipn; 1 2us.
33691176 i e d“?,’hd 56 ,? ¢ %u o 9< | hunn 0 100 0
urwanpnwhnwh pandh, $Eunnbpng e 2us.
33691176 2610Ug/lj+ 5008Ua/dy. 204 9< hwin 2700 50 135
33611472 S1hgtipn| dndpliubip nunhwnhpuwpt Ig C hwin 12,9 2000 2258
33611472 Shatipng dhlpnhnglaw 5 q< hwin 104 1500 156
33611472 Hhgtipn; dhlpnhngliw 104y L hwn 119 250 29,75
33691138 Syniynq 5%-5004 < hwn 0 15000 0
33691138 SHiniyng 5%-500u) < hwn 247.8 6000 1486.8
33691208 Syniinqw (nbpuinpng) 1004g/dj 1004; < huwin 0 800 0
33691208 Syniynquu (nbpuwnpng) 100ug/4; 1004; has hwn 480 750 360
33691208 Synilinqu (nbpuinpng) 100ug/uy 500u; G hwwn 0 300 0
33691208 Syniynqus (nbiputnpng) 100dg/; 5004 Q< hwwn 580 120 69.6
Snppwdhght, nbpuwdbpwgnt whuwlwphubp
33671124 AT oAl 5l < hwn 1197.9 20 23,958
33631310 Thiyntitiwly bunnphnuth undhly 12 50q < huwn 12,9 500 56,45
33631310 Hhlyndbuwy Uwwnphnudh dndhly 25dg Q< hwwn 12,9 500 56,45
33631310 THhln$bliuly bwnphnul 10dq/q 509 nnlnan G< hn 550 15 8.25
33691202 bnwdghjuin 2500q < hwin 38 800 30,4
33691141 BpYwdhU pdolwljul 9L hwwn 0 7500 0
33691141 Bpyuwidhl pdolwljul 9L hwin 3300 1500 4950
33631290 Ppnuynndbl opwpwly 100dg/54;  1004; 9< hwin 0 250 0
33631290 Ppnuypndhit opwpwly 100dg/5d] 1004 Rad hwin 700 100 70




33611310 Puunyhl GuipSuinl wanbgnisjuwip-104; < hwwn 0 30 0
33611420 | Lpnphjwgyws ybunwih Ywpbwpeeywiht dwlpkubp 9L hwn 0 2000 0
33621100 Ywighnuwih gyniyntiwin 500dq 9L hwtn 0 1000 0
33691176 Yibdwuinhl upy. 1dg/24; < hwwn 0 600 0
33141166 Lbwwphl punip 25 9L hwn 0 15 0
33621640 <hnpnynpinhgnli puniy 10dg/q 15 9L hwin 0 15 0
33631200 FmnulPapl. dtphimuh 9 | huwin 0 300 0
punp 7.50q/q+40dg/q. 40q
33691112 Ubwnpnuhnuwany, pinphtipupnhb punip 1% 20,0 Q< hwwn 0 20 0
33691176 Uopuh$jopuwghl - 1,60q/d;.250 1y 9< hwin 0 450 0
33691176 Opuhutinnwanihtih hhnpnpinphn 0,25dg/d 104; K hwwn 0 40 0
33691136 Luwwnphnuih pinphn (-p_ 10%; 504; q< hwin 530 720 3816
33651149 U ht_ 500000 U4 < hwin 15,7 400 6,28
33661122 Nwpwgbinuwing opwpuly 120dg/54) 1004 L hwin 399 20 7,98
3eonze | - ~ngbwhnhahl “;‘:I”".‘;";';L‘h"""" EgRa 9¢ | hun | 2650 5 13,25
33651145 "o dpeuf B Wendhght , nbpuwTEpuwart peh %< | hwn 0 20
uwnb| 15d;
33631230 Nndhnnb jnn_punip 10 % 20q, < huwin 260 30 7.8
33671113 Uwp in| gnnughp 100ulg/nngw 200 <L hwn 0 300 0
33671113 Uwipnunwdng gnnwghp 100dyg/nnquw 201 < hwtn 1460 165 240,9
33691500 Spwbpuwdwppnt nhun 250q QL hwun 127 400 50,8
Sb$nipopupd nehy Ul

33651141

3651 eadramts 75080 100 9L hwn 0 500 0
33661122 Mwpwgbnwdng nhin 500g < hwin 6,5 5000 32,5
33661122 Nuwpwgtnwidng dndhliubp 1500q < hwwn 50,9 130 6.617
33661122 Nuwpwgtinwdng dnidhliubp 80dg < hwwn 42,4 80 3,392
33631150 Shulh opuhr,_punip 100uq 25q < hunn 227,85 8 1,8228
33651134 Shupn$inpuwghls nhun 500iq < huin 28,9 3000 86,7
33611120 | Swdnwnhnhl Ihnhiwgyws upy (-ph 20dq, 50 ;nwdhy Q< hwtn 0 75 0
33611140 Ounuwiiutnpnl 2Uq/d; 44 < hwwn 235 1500 3525
33691192 Sbliwgnl, jhnnljuht whwlowlwph) 5q < hwin 504 8 4,032
33651150 Dyniyntwqn 504dq b2l hwun 0 120 0
33651150 SDyniynbiwgn| 504q Bas hwwn 116,84 70 8.1788
33651134 | Shupniopuwght, nbpuwibnwgnt n/ywhunyp 10 ] < hwin 0 4 0
33651134 | Shwnpn$ropuwght, npuwdbnwgnl n/ywlunyp 10 G Q< hwn 2016 2 4,032
33671129 Uhuipndnuwy, inbunpuwluht, $blwgnl whwtgh ac bl 0 9 0

Lwphy 54

33671129 | Uhwnndninuy, ”‘""‘"“‘”“"23' Wuugts uspwtioh % | hwin 315 8 252
33691226 Spwdwnn 100dg. 24 QL hwn 200 500 100
33691226 Spwiwnny/nbpuybuninwnnbl 75g/250q <L hwwn 250 150 37,5
33661123 Sphdbwhpnht 2%-10; 9L hwtn 780 400 312
33621420 Unnpdwunwinhl 40dq L hwin 80 6000 480
33671125 Udppnpun| opwipwly 100 vy 9L hwin 800 60 48
33671114 Udhunhiht 2.4%-5 o A< | humn 48 10000 480
33621390 Udhnnwpnb 150dg 3ug K hwun 650 1200 780
33651163 Udhlwghl 500ug/2u; Q<L hwwn 2440 120 292,8
33691176 UwhYuwpwl nhwn 5iq L huwin 507 120 60,84
33621740 Udinnhuhts 10dg 4L hwwn 10 6000 60
33651110 Wwhghjh-+unypwlunwd 10000g/5004g, < hwin 3000 80 240
33661121 Ugbunhjuw|hghjwppent 500dq i hwin 6 3000 18
33621761 Ugtinhjuwihghjwppent, dwqubighnuh hhnpopupn Q< hwin 25 4500 112,5
33691153 Pwphnuh unybuwn thngh 100g Q< hwwn 200 240 48
33691189 Pbunwhhuwnhl 24dq < huwin 120 2400 288
33691811 Phuwynnhy dndhly 10dg < hwwn 42,6 3000 127,8




33621720 Phunuipnn| 5iig Q< hwn 30 12000 360
33621360 Hhgbiphy tnhupupwin/ Uhwnpngihgliphl 1,50 < huwn 750 1600 1200
33661153 Wipuwdbpwagnt whiwlwphy 100 4L huwin 750 40 30
33621250 “Hipunpws 70 - 5000; 9L hwin 2400 60 144
33621250 “Hapuuinpuw 40 - 5004; 9 huwin 2400 180 432
33631250 Epwn| pdoljwlust 96% 9< |hup 1200 500 600
33621120 Fuopuwwwpht bwinphnu 400001 0,44 Q< hwin 2400 600 1440
33611180 Lwlynnyng 200 9< hwin 2300 40 92
33661116 Lhnnlwhth hhnpnpinphn 2%-20( 9L hwin 38 4000 152
33691192 Lhnnbwih hhnpnpinphn, bwhtt$nht 200; 9< hwwn 900 150 135
33691203 Lnqupinwl ghin 100ug 9< hwin 52,5 560 294
33691213 | Lhn$hjugywd YEunwh Gwpbwppywiht Jwliptubp qL hwn 131 2000 262
33691213 | Ybunwup Ywplwpedwht pwlunbphwubp / Lwppub 9L hwn 45 5000 25
33691176 Ywpptinnght 1004lyg/8; 19; 9L huwin 22680 10 226.8
33621690 “wpybinhing 25u0q. s hwtn 50 2800 140
33631300 “binnwpnbl 50dq/d) 2d; L hwwn 180 1000 180
33691176 Yidwuwnhb 14 9L huwin 220 400 88
33621140 Yinwhnngply 75dg K hwin 250 12000 3000

Lwlulbfuhy/wlinhubunfii hunwhwup
33621643 3 fuhy - t’“up e < | jhup 3400 200 680
33621643 Cwlwbifuhy/winhubuunhlyl whunwhwbhy dhengtibin/ ac e 7200 40 288

<whwhhhg;1uaﬁlﬁuqu‘;h:"u u?lummhwhh;
33621641 dhonglbn/Synunwpwinbhhn 20% hunwbine 5004 < hwin 9900 24 237.6

(mmn S/ wlinhulun) wiunwhwths UhgngUtin7
N.N-htigh-N-Sthy-wynih(oguhtefy) wdnbihnudi
| uonaonasn, it o i oo, | %< | o0 | 13500 | 60 | g
Shndblunlibinh hunfushn
Lwlwibtuhy/whnhubunhly/l whinwhwbhs dhonglbip/
33621643 anmhbpumdhph[hhqnuuhhqhhh hhnpnpinphn, NN- <K |hiap 8000 80 640
Phu(3-wdhunwpnuwhy) nanbghuwiht

<wl|wbhhah2/whmhuhu4mhl4/h wiunwhwlhg
33621641 dhonalbn/Mabsuwnnipugiuws bowtin | 9L hwwn 4500 60 270
33621641 Swlywbluhg/whinpubymply/L whunwhwbhy dhenglbp/ q¢ o 15 12000 180

£inph indynn hwpbip
33621490 Ubphinnww 250iq Q< hwtn 45 1500 67.5
Ubinwdhqny, Uwwnphndwlwl

33661125 dntnhhnpwn,whunnbunth hhrpnpinphn, < hwn 270 200 54
33621190 Ubtwnhnbh bwwnphnu phuny$hin 1%-10; < hwn 120 1200 144
33621700 Ubwnupnin; 50dq 9< hwin 18 3000 54
33651143 Ubpnybtad 10004dg L hwn 4500 100 450
33641200 Uhgnuyjpnuwnng nhin 2004lg L hwun 180 1200 216
33641210 Uh$bwphuwnnt nhin 200dq < hwin 2756 60 165,36
33651139 Uopuh$iopuwghts 0,16% -2504; Q<L hwin 1500 180 270
33691170 Snwnndhn 1004 A hwin 16500 300 4950
33691154 Snhbpun| 504 <L hwn 5500 2800 15400
33621750 ULhdbnhwht 10dg < hwin 31 5000 155
33691223 Luwnpnwywphth Yuighnuiwlwl wn 0,34 < hwn 2200 600 1320
33691223 Luwnpnwwphtp Yuighnwiwlwl wn 0,64; < hwin 3500 2400 8400
33691144 Luwunphnwh phnuny$umn 30%- 104 K hwwn 55 4000 220
33691136 Lunnphnuih pinphn, 0,9% 30004 < hwun 1500 150 225
33661147 Ubinunhquhts 0,05%- 14 9 | hun 60 1000 60
33611150 Muwlypbwnhl Q< hwin 32 5000 160,0
33661122 Muwnwgbnwing 1004 ad hwn 2500 160 400,0
33611470 Mwbnnypwgn nhin 200q < hwin 60 1400 84,0
33611471 Nwbnnwpwgn) 40dg 9L hwwn 1870 50 93.5
33621480 Mbphunnwph| nhin 10dg < huwin 96 1500 144.0




33691186 Mhpwgbinwdh 20%-54; XK huwn 55 6000 330,0
33691176 Mpngbunbipnt 200dq <L hwn 360 560 2016
33642210 Tptinuhgnint S5dg L hwn 8 5000 40,0
33661112 Mpnun$n| upy. 10ug/; 200 QL hwin 700 3200 2240,0
33621777 Nhywnopuwpu 15iq 9L hwwn 750 1260 945,0
33621777 Mthywpopuwpwt 20dq < hwun 825 1120 924,0
33691200 Ubkiinghnubp A,B rhin QL hwun 22 8000 176,0
33621620 Uwhpntinpwljnnt 25dg Q< huwn 50 10000 500,0
33661181 Uln$ynipuil 2500; < hwin 55000 20 1100,0
33661154 Sbupwluihl 1% whbwlupeh 104 < hwn 2900 60 174,0
33631380 Snywbiphgn h/p 150dq QL hwn 80 1200 96,0
33691500 Spwbbpuwdwppnt 204; Q< hwin 2350 200 470,0
33691500 Spwlbpuwiwppent 5004g 9< huwin 208 600 124.8
33691176 Shljwgpbinp nhin 90dq < hwn 830 56 46.5
33651116 Sbuwignipt 1g < hwn 250 14000 3500,0
33651123 Sbpnuinwpuhd 1g K hwin 400 8000 3200,0
33651141 Stbnipnpupd 750dg K hwin 1200 1000 1200,0
33651118 Stbuphwpunt 1g 9L hwwn 150 24000 3600,0
33651134 Shuipndropuwght whtwluph 0,3% 104 L hwwn 700 40 28,0
33631241 inphbpupnhih uwhpuwihl 1-p 9L thinp 1500 250 375,0
33631200 Q[npwd&bbh!{nl.dhph[mpﬂgm punty 40q < hwn 300 240 72,0
33651192 03h wnihyublin hwlwpnyu 9< huwn 120000 1 120,0
33611120 Sbwdninhnhl nhn 20dg < hwtn 28 8000 2240
33611120 SDwdnnhinht 20dq < huwwn 980 350 343.0
33651150 Synilyntiwgny 1500g Q< hww 150 1000 150,0
33691176 Snipwghihih pundy 25q 9< hwun 250 200 50,0
33691176 bninwghihtih thngh 0.2 < hwwn 12 2000 24.0
33621230 bnjwppen Sug s hwwn 4 4800 19,2
33661123 Sphdbwhpnht 2%-1d; Q< hwin 780 150 117.0
33651163 Udhluwghl 5001q/24; < hwn 2440 120 2928
33651110 Uduhghiht+unypwlnuid 10000q/5004q < huwwn 3000 80 240,0
33651112 | Udopuhghihl/piusdnywtiug Rt nihg 250ug/5u; 1004; < hwn 1060 30 31.8
33691176 Uwhpuwpwl nhn 5dq L hwin 507 120 60,8
33621390 Udhnrpupnt 200uq 9< hwtn 80 3000 240,0
33691153 Pwphnuwh unywwn thnoh 100q <L hunn 300 240 72,0
33671126 Ppndhbpubt 8uq < hwin 3 3000 9.0
33611472 S{hgbin dndplbp 2.11g 9 | hwm 138 800 10,4
33621360 Sipgbiphy bnhthuny / Upinpngihglipht 0,5dq < hwn 10 400 4,0
33691213 | Lhn$hjwgyws Yblinwbh Ywplwppwht dwlptubp q< hwin 131 1600 209.6
33611200 Lnwbpwidhn 2dg K hwin 12 600 7.2
33661116 Lhnnywihuh h/p gnnughp 5%-154; L hwn 1322 50 66,1
33661116 Lhnnbuihth h/p pumip 5%-15q < hwin 835 20 16,7
33651199 Hwinwnnipul by wwindwunwlynp KL hwwn 7000 50 350,0
33671135 wighnudh pinphry 5u; < huwin 86 400 344
33621643 Cwlwubiuhg/wlnhutivynhl/ whinwhwlhy Shengubn/ q¢ g 7200 30 216.0
Gpublwnwn) wgny 4|
T T i e
N.N-nhntight-N-dbhi-wnihiopuhthy winbhnudh

33621643 wrpuihntawn, qhabghy nbeh; winbhnuh gk, < thunp 13500 80 1080,0
33141166 Shwwpht punip 25q < hwin 620 20 124
33621640 <pnpninpinhgnl pundy 10dg/g 15 < hwin 265 30 8,0
33651191 Swlwpnunniyghlwhl shéiny wnhuy U 9L hwn 2700 3 8,1
33651191 Swhwpnuninyplwihl ohéinily why P < hwwn 4800 3 14,4
3365191 Lwlwpnunnyhlw)hl 2héniy inpy b < hwin 5400 3 16,2
33621270 Ubipnih indnyp dbphy hgnywibpwiepdnd < hwin 18 200 3.6
33691112 Ubinpnbihnuwgny, pinphbipuhnhl nntinnn 20q QL hwwn 655 20 13,1
33631260 Snnh uw. ndnype 304 K huin 430 100 43.0




33651128 ULhunpn$nipwiinnnihts 50ug < hunn 5 1000 5.0
33691199 Uhihdwpht 2250g. < hwn 24 800 19,2
33691176 Shlywgpbinp nhin 90dg K hwun 830 56 46,5
33651321 Stbonwpuhd/unypwlnw 1000dg/5000q, 9L hwn 3000 60 180,0
33651141 3tdnipnpuhd 750dg 9< hwin 1320 500 660.0
33631491 Stnhphghl 10dg. Q< hwn 71 600 42,6
33691176 Shynybtunniwn wibwluwphy 1%-50; Q< hwun 3180 25 79,5
33671116 Lupindbunwagn pls gnnuohp prh 104 hwwn 1500 30 45,0
33691176 | Opuhdbuwgnipih h/p pph Yuphy 0,5dq/d; 104; q< hwwn 680 40 27,2
33651192 Odh wnjhywibbwn hwlwpnyu 9< | hwwn | 120000 1 120,0
33621590 bnipnubidhn 40dg < hwin 4 2000 8.0
33621590 Sbrupnubidhn 1% 2d; G hwun 29.4 32000 940,8
33691176 Shlwgnl, |hnnluwhl 154 a< hwtn 1100 30 33.0
33691200 Ublnghnutip uu huwn 20 2000 40,0
33671113 Uwpn in| gnnuighp uu hwn 2250 6 13,5
24111190 Ustuwppnt qug uu huin 5500 50 275,0
33651143 Ubpnububd 1000dg uu hwtn 4900 10 49,0
33651126 Gtunwihght 20 uu hwwn 67 600 40,2
33671113 Uwp in| gnnughp uu hwn 804 60 48,2
33691800 _Plwghgnuiwp 100dg uu hwn 100000 1 100,0
33661112 Tpnuynny 100dg/0; 204; uu huwin 465 215 100,0
33611280 Hhlywahn MR nhin 60dg Ul hwtn 96.2 300 28,9
33691176 hunnitunwghts dndhly uu hwn 97 360 34,9
33621600 Punwwwdhn nhin 1.5dg uu huwin 18,833 1800 33,9
33621100 “wighnuwh gyniynbwin 500dq uu hunn 22 500 1.0
33141165 Ujpnuihli 20% 1004; uu hwin 4 25000 100,0
33621590 Drupnubidhn 1% 24; uu hunn 294 3400 100,0
Clnuiibup 192248,6
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33111100 (Bquyhl nbingbl uwpp < hwin | 9300000 1 9300.0
42931111 Lnnwgnn gbtinph$nig q< hwn 580000 1 580.0
33141136 Ufuwnnpnohy Yuwpbiup L hwin 0 200 0.0
33141136 Upuinnpnghs Yupbinp Rad hwin 6200 60 372,0
33141136 Uhunnpnghs Ywpbun K hwwn 8100 900 7290,0
33141136 Utuinnpnohs Ywpbnplbph hwwpwdnt K hwun 0 700 0,0
33141136 Uhunnpnohs Ywpbinptbph hudupwdn: R huwn 12400 400 4960,0
33141184 Uuinnpnghs ninnnpnhs hhapnghy -0,018 § < hwn 16000 40 640.0
33141136 Uuwhpwghnt Yupbnp < hwwn 0 10 0,0
33141136 Uuwhpwghnt Ywpbup 9L hwin 105000 3 315,0
33141137 Puintwihl Ywpbnbp pwpdp 6wl 1 < hwin 0 200 0.0
33141137 Puynbwihb Ywpbnbp pwpdp Gadwl 1 L hwin 32800 100 3280.0
33141137 Puinbiwht Ywpbnbp pupdp 620wt 2 L hwin 31000 300 9300,0
3314137 Pwinbwht Ywptinp 1 9< hwin 0 220 0.0
33141137 Puwntwjht Yuwpbunp 1 Q< hwwn 32800 100 3280,0
33141137 Punuwihts ywpbnp 2 <L hwn 0 300 0,0
33141137 Pwinbwiht Gwpbup 2 < hwin 31000 150 4650,0
33141137 Pwnuwiht Ywpbtwnp 3 9L hwwn 0 50 0,0
3314137 Pwinbwipl Yupbnp OTW e huwin 0 5 0,0
33141179 | Pdalwlwts huifwpudnisbp ubghngpwhuh hwiwp | 3< | husn | 19800 | 1200 | 237600
33141136 Suyn Ywpbp 1 9L hwn 17800 600 10680,0
33141136 Swin Ywpbinp 2 < hwwn 0 70 0.0
33141211 Shd 60ud Q< huwin 0 150 0.0
33141211 "hwunwlh Gugng Yuy < hwwn 0 50 0.0
33111310 Hinwywwn unbln | 9L hwwn 89000 260 23140,0
33111310 "Hinwwwn unblin 2 < hwwn 0 260 0.0
33111310 Hinwwwin unbln 2 <L hwin 95000 130 12350,0
33111310 Hinwwwin unbln 3 < hwin 0 60 0.0




33111310 Hinuuwin unblwn 3 QL hwn 79000 30 2370,0
33111310 “Hinwwwin uinbn 4 L hwwn 0 30 0.0
3314121 Hlilpnn nhpdwywp dwdwbwlwynp uwpgbph 9L hwin 0 2 0.0
33141211 | Pabudywinnp 20/30wnwebwiht thwpebe Ynwhnuony | 9< hwn 400 00
3314121 hnb$ywinnp 20/30wnwgliwhl thwpbp Ynughnnnyg S hwtn 10000 280 2800,0
33141211 Prbuywwnnp thwebp 20 By < hunn 0 50 0.0
3314121 Prbudbywinnp hwpbp 20 Buy 9< hwn 6000 33 198.0
33141211 Prbudywunp hwpbp Ynuhmnny < hwin 0 100 0.0
3314121 Prbubywinnp hwpbp Ynwhinnng Q<L hwn 10000 50 500,0
33141136 Punpwyniubp Swbwbswjhb < hunn 10900 1500 16350,0
33141136 Punpwnynwbp pdnpuy 10ud S hwun 0 250 0,0
33141136 hunpwnynutip pbdnpu 10ud < hwwn 10900 150 1635.0
33141184 Ynpnbwp ninanpnhs 0,6-0,7g 4L hwwn 0 80 0,0
33141184 “npnbwp ninanprjs 0,6-0,7g a< hwun 35000 40 1400,0
33141184 Ynpnuwp Yuwtp 0,4-0,5q < hwin 0 120 0,0
33141184 “npnbwp Juitp CTO K hwwn 0 10 0.0
33141184 “npnuwp Yuybp CTO | < hunn 0 5 0,0
33141184 Ynpnbiwp Jujbp CTO 2 4L hun 0 5 0,0
33141184 Unpnbwn quibp hhnpnbh; 9< | hun | 33000 500 16500,0
33141136 Uhlpnlwpebnp Ynpnliwp wungh L hun 0 5 0,0
33141136 Munnnpnhs Gwpbup < hwitn 0 50 0.0
33141136 Ninnnpnhs Ywpbup L hwwn 21000 20 420.0
33181170 Upjwl hnupuwyhli ghd Q< hwtn 1490 11500 17135.0
33181150 <hduwyht funwlyniph pwppphe < hwn 1350 11500 15525.0
33181120 Huwihquinnp < hwin 3600 1200 4320,0
33181120 “Huwihquannp L hwtn 0 4000 0,0
33181120 “hwihquwnnp K hwwn 2750 2500 6875.0
33181120 “Huwhquunnp K hwn 3000 1440 4320,0
33181120 “Huwihquinnp < hwin 0 4000 0,0
33181120 “thwihquinnp Q< hwin 3400 2400 8160,0
33181160 Bpdwhl funwnge < hwun 3250 2500 8125,0
33181160 Yhupnbwppeyh lunwlyne 9L hwin 10000 160 1600.0
33141149 $h {wjht wubnubip quiplbpwljught < hwin 195 9000 1755,0
33141149 &humnquqhu wubinubp Gpuwlwihl K hwn 195 9000 1755,0
33141149 bhuwnnyuht wubinibp qmphbnmlqwjhb 9L hwwn 196 2500 490,0
33141149 Dhutnnywihts wubinubp bpwluhl L hwwn 196 2500 490.0
33181120 Shywp hbdnnhwihgh uwpph < hwwn 75000 15 1125,0
33141136 “wpbintp hbdnnhwihgh K hwn 8200 50 410,0
SN2 | Wpuinutph wnwguibnhl wpgbubwlnn huppat | %< | o ¥ - =
33141192 Utipwlnuliph wwswdinhb wpgbjuwipuwlnn hwppuwl K hwin 102000 5 510,0
33141192 Ubpwih Ywppwinp huppuwl L huin 0 6 0,0
33141192 Ubpwih Yuwppwinp hwppwly < hwtn 102000 3 306,0
33141192 Pugninuyph dnunwlw wngbjwhwlynn hwppuwl <L hwtn 0 25 0,0
33141192 Pugniynulph dnunwlw wpgbjuthwiynn hwppul; < huin 132000 13 1716,0
33141192 Pwqniljnulyph inphtig. dbju < hwwn 0 10 0.0
33141192 Updniiybiniuh wpgbjuihwidnn hwppwy < hwin 0 4 0,0
33141192 Updniblytnith wpgbjwihwldnn hwppuwl < hwwn 102000 2 204.0
33141192 Buwbwlsnuynh htnwlw thninfuwlwl whijwdp ac B 0 15 0.0
_wpgbjuthwlunn hwnewl
3auney |  Susstsouinn Mt gindahilud ullyeln 1o T T e 8 8160
Ugnpnulph "::U :u%pml‘ l:lhp:.‘uur‘xjwl YbLnpnUwlwl 0

10 0
33141192 9< hwn 0
3314n192 | Uannnulnh H<U h“‘"ﬁ" "h""‘""“l PN | e | o | G080 5 810,0
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33141192 Ugnnubph MU hwppwlh Yndwpbuhnb wnnunwl 9L hwun 0 10 0.0




33141192 Ugnnuyph U hwppwlh Yndwpbupny winniunwy L hwtn 3000 15,0
33uangy | Uannnuloh """“‘l‘:‘u:‘"““"h" Uinopnpuiginn 42 | twan 0 6 00
asungy | Uannnulinh . S e v 9 | hun | 162000 3 486,0
___hwppwl
a3ungy | UbOnineh """“"L'“"‘:"”:"‘“ wnqbiuspuldon o< | hun 0 10 0.0
___hwppwly
Utd [ b
33141192 SRR ORI | o | me | 1000 | s 660,0
hwppwl
33141102 Ubd ninph dnuinwlw Ubpuwhl wpgbpwthwlnn ac T 0 10 0.0
hwnpwly
Bung | CEREESRIRREEEE | o [ e | 12200 5 660,0
—hwppwl
33141192 | Utd ninph hbnwlw dhowht wnqbuhwldnn hwppwy |  9< hwin 0 10 0,0
33141192 |Ubd ninph htinwlw dhgwht wngqlijwhwyynn hwppwl| 9< hwwn 132000 5 660,0
T R L ::"‘db"""" pipaduslsion 9 | hun 0 20 0.0
__hwppuwly
33ngy | UMPnIneh henwluw SRR | or [T | mas | 1 1020,0
33141192 Pnpp wpgbwihwlnn Yndwpbupnk hwppwly 3.5 dd ac hiiitn 0 10 0.0
ununwltbph hwiw
3314rtgy | PRP whabushwlinn Yndupbubel huppuly 5T [ [T T o 5 510,0
winnunwlbibinh hwdwn
33141192 Lbin wpgbywihwlynn Yndwpbuhn hwppwl 4,500 ac St 0 10 0.0
wnnunwhbibiph hwdw;
3aungy | VoM wnabnhulidon ndupbubel hupeuly 4505 | 132000 5 660,0
wnnunwllbph hwdwnp
33141192 Ugnpnulyph Yupé wpnpuhdw dbtu Guwphsm < huin 0 60 0,0
33141192 Ugnpnulph Yuip§ wpnpuhiwy dbu Yuwihwphgny QL huin 162000 30 4860.0
33141192 Ugnpnuliph bplwp wpnpuhduw dbfu Ywihwphsny QL hwin 0 30 0,0
33141192 Ugnpnulph bplwp wpnpuhdw) dbju Ywipwphsny 9< hwwn 162000 15 2430,0
33141192 Ugnnulinh wpnpuhdw dkfup 6,400 ujunnunwl Q<L hwn 0 90 0,0
33141192 Ugnnuliph wipnpuhidwy dbfuh 6,468 wnnunwly AL hwin 3000 45 135,0
33141192 Ugnnuliph wpnpupdwy dbfuh 8,000 wwnunwy G hwin 0 90 0,0
33141192 Ugnnulinh wpnpupiwy dbjup 8,000 wnnunwl < hwn 3000 45 135,0
33141192 Ut njnph nphtiq dbju 9< | hun 0 15 0.0
33141192 Utid ninph nphug dbtu < huwin 162000 8 1296.0
33141192 3,9 Ud jnphuig wnnunwl dbjuh hwdwp Q< hwin 0 20 0.0
33141192 3.9 dd |nphtg upnnunwly Jhjup hwdwp < hwuw 3000 10 30.0
33141192 | Ugnnuliph wpnpuhiwy dfuh 4,906 nphtq wwnunwly < hwwn 0 120 0.0
33141192 | Uqgnnulyph wpnpuhdwy dbtub 4,900 [nehUg wwnnunwl q< hwwn 3000 60 180,0
33141192 2,404 wpgbwihwlnn ywnnunwy QL hwin 0 50 0.0
33141192 2,400 wpgbwihwlnng upnnunwl gL hwin 3000 25 75,0
33141192 2,700 wnnunwly 92 | humn 0 25 0,0
33141192 2,7dd winnunwly K hun 3000 13 39.0
33141192 3.500 wpghiwwlnn uwntghng wnnunwl 9L hwitn 0 150 0,0
33141192 3.500 wngbjuihwlng uwntghng uwnnunwl R hwwn 3000 80 240,0
33141192 3,504 wpgbpuhwlnn Ynpunhlw) wununwly L hwn 0 100 0.0
33141192 3,500 wpgbjwihwlng Ynpuhlw) winninwl Q< hwin 3000 50 150,0
33141192 3,504 Ynpuhyuw) winnunwl huptwpewlnn < hwin 0 150 0,0
33141192 3,504 Ynpuinhljw) wnnunwl hlpwpwldng K hwwn 3000 80 240,0
33141192 4,004 uwnughng wnnunwly < hwwn 0 20 0,0
33141192 4,000 uwynbighng wununwl < | hwwn 3000 10 30,0
33141192 4,004 Yuwynywayws uuntighng wununwl < hwwn 3000 40 120,0
33141192 4.50d npunhlw wnnunwl huptwpwldng L hwwn 0 80 0,0
33141192 4,504 Ynpinplyuy wununwl huplwpwlyng 4L hwwn 3000 40 120.0
33141192 5,004 wpgbijwihwlunn uynbighng winnunwly 4L huwin 0 100 0.0




33141192 5,004 wpgbwihwnn uwntghng Yy < hwwn 3000 50 150,0
33141192 5,000 wpqbuwihwlinn Ynpuhlyw; wnninwly L hwwn 0 50 0,0
33141192 5,004 wpgbjwihwynn Ynpunhlyw) wunnunwly R huwin 3000 25 75,0
33141192 7,00dud Yndwptiuhnu wunnunwly 9L huin 0 50 0,0
33141192 Pnpp Yndypbupnl hu:‘[:upﬁ 3,5 U wnunwlubph ac P 0 10 0.0
— .
Pn,
apanay | O ik ey 35 W p D | o | e | 103000 5 510,0
hwiwp
33141192 ULbn Yndwpbupnt hwppwl 4,500 wunnunwhbbiph qc¢ i 0 10 0.0
hwdwp
33anoy | N Undupbuhnl hwppuwl 4507 wnnnwleh | o [ 132000 5 660.0
hwdwnp
33141192 UBly bnapn, intanpuin huippul 3.5 53 9< | hwn 0 10 0,0
wunnunwbbibinh hwdwn
33141192 Utk Bnpnnn, wnipnigun huppuwl 3.5 53 9< | hun | 102000 5 510,0
winnunwlbibiph hwdwn
33141192 Lyl Yndupbiuhnt hwppwly 4,5 00 wnnnwiutnh ac — 0 10 0.0
huwdwp
33141192 Lwil Yndwypbupnb hw:pdwﬁ 4.5 0 wpnnunwlbph ac _— 162000 5 810.0
— 1) [T7] -
33141192 Maynbuwnpnilghnl hu:lr:ura:m 3,5 U wwnunwlubiph a4 s 0 10 0.0
— T .
33ungy | MunUunnlighnl hunpul 35 6T wnnnalUEnh | o | 102000 5 510.0
hwiwp
33141192 Cynuin 1,5 6 30ud < hwwn 1500 200 300,0
33141192 Tjnin 2,0 dd 30ud < hwin 1500 200 300,0
33141192 Tynin 2.5 Jd 30ud < hwwn 1500 200 300,0
33731121 Lbpwlliughl nuwbjwl QL hwun 37000 250 9250,0
33731120 Lbpwibwiht (hgpuidnpyuwd thusthniy nuwbywly Q<L hwn 0 250 0,0
33731120 Lbpwlbuhu (hgpwinpywd trwhinl nuwlyuly L hwun 50000 200 10000,0
3373120 Ubipwllwht dwihnily hhgpn$ng nuwbjwl K huwin 438000 50 2450,0
33731120 Unun$nihly dwindh hhnpndhy ng thwyinils nuwbjwly Q<L hwn 50000 50 2500.0
33141211 Shyntdnyuhphlwghuih hwwpuidni G hwin 0 102 0.0
33141212 Dhyntunyuh$hliwahwih hwdwpusn < hwin 60000 72 4320,0
33141155 "hutwl Ubbwpnidwlwb-Ybpwinnd Q< hwin 0 250 0.0
33141156 bl UGbwpnidwlub-Gbpwinnd 9L hwwn 4700 150 705,0
33141155 Thutwl witiwpnidwlul Q< hwwn 0 252 0,0
33141156 Tubiwl whlwpmidwlwt < hwn 5500 180 990,0
33141212 Ulbwppuwh lywb ukpy < hwtn 0 50 0,0
33141213 Uybwyhpwhwinwlwl Ubpy K hwwn 11000 40 440,0
33141212 Ulbuwihpwhwinwlwl Ubpy < | hun 0 70 0,0
33141212 Ultwyhpwhwinwljuwl bbiply < hwun 3000 50 150,0
33141211 Nuulijulih Ywwunywp on 12.30710.004d LS hunn 0 25 0.0
33141211 Nuubywlh Ywwunywn on 14.30/12.0000 < hwwn 0 25 0,0
3314121 Nuylywlh Ywuwunywn on 14.30/12.00048 RS hwwn 6500 20 130.0
33141211 Nuulyulh Yuwwunywn on 15,30/13.0004 9L huwwn 0 25 0.0
33141211 Nuwlpulh Yuyunywn on 15.30/13.00048 S hwtn 6500 20 130,0
33191620 ULbwdhpwpnidwluts dhn. unbiphy Sdwéling uwytinuiih ac hwn 0 700 0,0
33191520 | Uyuwyhpwpniduliuts ghp. unbiphy dwdlyng uybinuth L 4 hwin 1200 600 720,0
33141211 Ultwpnidwlwl pwppphg L hwn 0 200 0,0
33141211 Uhtwpnidwlwl pwpephe < hwn 4200 150 630,0
33731140 Uwnbiphy bbpwluwiht jmdnyp 5004 < huwin 0 210 0.0
33731141 Uwnbiphy tbipwlbwihl jndnyp 5004 9L hwin 6400 180 1152,0
33731140 Pgnunbihly, unbiph wwhpngb ndnye QL hwn 2500 400 1000,0
33141211 Ubphigtiynynquihts Jhulntjwuwnhly /qby Q<L hwn 0 250 0,0
33141212 Ubphigtiynynquiihti yhulnbywunhly /gty YL hwn 6200 200 1240,0
33141224 “huptyunndhwih hwiwp bwhiwbbudws gnun ac b 0 12 0.0
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33141225

Yhunpkyunndhwih hudwn Lwhiwbbuws gntn,

hwn

110000

660,0

<
hwdwpwdnt
33141184 Yuwbp 0,35 9L hwn 0 150 0.0
33141184 Huwbp 0,35 9L huwin 19500 40 780,0
33141184 Ywbp nhwqununhly 0,35 K hwin 11000 50 550,0
33141184 Lbjpnywtp 0,014 9L hwin 0 50 0,0
33141184 Lbypndwtip 0,014 < hwn 100000 18 1800,0
33141184 Ltpnyuhlpndwbp 0,014 9< hwwn 0 50 0.0
33141184 Lbipnydhlpnywbp 0,014 Gl huin 100000 15 1500,0
33141184 S 2he K huin 0 50 0.0
33141184 Swin 2he 9< hwin 78000 10 780,0
33141136 Nunopnhy Ywpbunbp < hwin 0 100 0.0
33141136 NMunnpnhs Gwpbunbp < huwin 55000 20 1100,0
33141136 uulqMwahmbp/hbmnhhqwqhq < hwn 0 50 0.0
33141136 Uuuhpuwghnb Yuptnbip/Utynnhlguahi 9 | hwn | 480000 5 2400,0
33141136 Huthpuwghnl Gupbutn] wophduphl Q< hwin 0 50 0,0
hwuwbbhnysjwip
33141136 Uhlpnywphbintip A hwin 0 20 0,0
33141136 Lbiipndhlypnlwpbnbp < hwin 0 50 0,0
33111310 Uwnbtun/nbinphytip L hwtn 0 50 0.0
33111310 Uunbtu/ntnphytip < hwn 462800 25 11570,0
33111310 ULbjpnuunbtin < hwin 0 20 0.0
33191510 Pnfulbpuwpwldwl hwidlwng/puinpdp Guotub < hwn 0 200 0,0
33141211 Ganinh dhuwljwling < hwin 0 200 0.0
33191620 Uwnbiph; uwywy 4L hwn 180 150 27,0
33141142 Lbipwplhs thwluiting Q< hwin 0 50 0.0
33141211 Pubnighnt funnnyuly < huwiwn 0 100 0.0
33141136 hwqununhl Ywpbnbn Q< huin 0 100 0,0
33141136 Huwgqlnunhly Ywptnbp e hwin 17000 30 510,0
33141136 hwgUnunhl bbjpn Ywpbntip 9L hunn 0 50 0,0
33141137 hwgUnuinhl Ubypn Lwpb bp s hwin 25000 20 500.0
3314121 YnUblwnp Ywal K hwin 0 200 0,0
33141211 Ynlblwnp Ywdl L hwn 18000 20 360,0
33141136 Uhlpnlwpbipbp 9L hunn 0 30 0.0
33141136 Uhlpnlwptiptp < hwn 230000 20 4600,0
33111310 Uinblin 9L hwin 0 15 0,0
33141211 f@pniphg wwonwuwlng qnpdhp S< hwin 0 15 0,0
33141136 Uuyhpwghnl Gupbnbp < hwun 0 40 0.0
33141136 Uuuhpwghnt Yuwpbinbn < hwn 3395000 30 11850,0
33111310 Uinbuwn/nbuinphybn 9< hwin 0 20 0,0
33 Uuuhpwghnt ywpbnbp thnpp nhwdbinpny < hwun 0 20 0.0
33141211 Uuwhpwghnt Yupt bp thnpp nhwdbinpny 9L huwin 230000 1 230.0
33141136 Uhlpnlwptintp < huin 0 20 0.0
33141184 Lbypndhlypnywibp < hwin 0 30 0,0
33141136 Ywplinbp phpbnthly <L hwtn 20 5000 100,0
33141136 “wpbnbp Ubpbpwlwiht 246 < | hum 459 20000 918,0
33141136 “wpbnbip Ubpbpwluh 226 < hwn 37 10000 370,0
33141136 Ywpbinbp Ubspbpwlwiht 206 K< hwwn 37 10000 370,0
33111230 | Udwindwn pudwliwnphgh dwipwluwlbp 10-2004ly; < hwin 0,552 80000 442
33111240 | Uduinndwin pudwbwynphsh dwjpwlwtbnp 100-1 000dy | 9< hwn 1,548 40000 61,9
33141115 | Adolwlwl pudpwl ng hwlwbblujws 100g Ubkipddunn < huwwn 148 4000 592.0
33141115 Pdaljwluls pwlgh$ /wpyw/ QL hwin 0 60000 0.0
33141116 Pdlwlywl puligh$ /dwpyw/ < | hwn 62,97 30000 1889.1
33141178 "Winbiph Ubpwplidwy hwidwlwpgbip a< hwtn 0 100000 0.0
33141179 “Hinkiph Ubpwplydwl hwdwlwngbp q< hwun 35 50000 1750,0
331411 Yugsnil uugbnwih 5°500 wnphg < hwwn 199 8000 1592.0




33141111 “uwsni uwbinwuh 2,5*500 Yuinphg < hwn 82 5000 410,0
33141156 abnnglibip pdylwlwt ny uwnbiphy < hwn 0 200000 0.0
33141157 abinunglibip pdoliwliul ng unbphy 9< huin 10 100000 1000,0
33141100 L ﬁ?:::slw"‘" e e U 9% | huen 0 5000 0,0
__auntindbunph
33141100 ”"”‘"“"“‘""“:‘ﬁ:‘"ﬂ:&b""‘“ phup-tnhq 62 | s 0 4000 0.0
33141100 VR ﬁ?ﬁgg&g“‘“" PR o | hun | g0 2000 | 1800
—auniindbunph
33141173 Uhgplinnitihy < hwwn 97,5 5000 487,5
33141142 Lbipwplyhsubp 1,0 < hwin 9.7 80000 776.0
33141142 Ubnuiplhstbn 2,0 < | hun 0 100000 0,0
33141143 Lbpwplpsutip 2,0 QL hwtn 9.69 50000 484,5
33141142 Lbpwplhgbip 5,0 < hwn 9.9 160000 1584,0
33141142 Lbipwplhsubp 10,0 < hwwn 0 140000 0,0
33141143 Lbpwnlhstbp 10,0 < huwin 14,5 70000 1015,0
33141142 Lbpwnlhsbip 10,0 fock LS hwin 245 5000 122,5
33141157 Lounwplibp b uwipbp G huwin 18 5000 90,0
33161220 Tywunby thwink S< hwwn 4 60000 240,0
33141211 Shd bpywpwgnighs 150ud 9L hwtn 260 5000 1300,0
33141110 hpwlwuibp 7°14 ng hwlwbbdws < hwin 80 10000 800.0
33141110 Hhpwlwiwbp 10*16 ng hwhwbblugwsd <L hwwn 136 8000 1088,0
33141110 Shpwluwwbip 5710 ng hwlwubiugwd R huwin 45 6000 270,0
33191310 Prndulingbn dwlnuhl wnyul gUghug %< | hun 16,7 48000 | 8016
pUUNIRIWY hwiwn
33191310 Pnpdwlinptip uwlinuiwiht dhjwht < hwn 248 36000 8928
33191310 $npdwlinplbp Na ghupwin Q< hwwn 16,7 12000 200.4
33141144 Nquninbnuiht wutig nunnpnhsny < hwn 0 2000 0,0
33141158 Uhpwpnidwywl abnunglbn N7 %< | hwn 90 6000 540.0
33141158 hpwpnidwliwb dbnungubp N7.5 Q< hwwn 88 8000 704,0
33141158 Uhpwpnidwlwl dkntingubp N8 R hwun 88 7500 660,0
33141158 Uhpwpnidulul 3kntingbp N8,5 Q< hwin 88 3000 264,0
33141121 Yhpwpnidwlwl pbitip Ubyjnu 1 QL hwwn 200 180 36,0
33141121 Yhpwpnidwlwb phijbp Liynt 0 < hwin 200 180 36,0
33141121 dhpwpnidwlwl phikp Lbjnu 2/0 q< huwn 200 240 48,0
33141121 Yhpwpnidwlwl phibp Lbynt 3/0 9L huwtn 200 240 48,0
33141121 Hhpwpnidwluil pbitp ULbynu 10/0 <L hwin 0 24 0.0
33141121 Yhnwpnidwlwl phip Ybingnun 0 4L hwn 0 600 0.0
33141121 Yhpwpnidwlwt phibp Ytngnun 2/0 < hwtn 280 900 252,0
33141121 Uhpwpnidwlwl pbjbp Ybingnun 3/0 9L hwwn 280 900 252,0
33141121 Yhpwpnidwlwl phibp Yhingnun 4/0 < hwwn 280 480 1344
33141121 Yhpwpnidwljwh phibp Mnjhuypnwhibl 0 e hwn 169 600 1014
3314121 Uhpwpnidwlwl phibp Mnjhwpnughibt 1 K huwn 180 600 108,0
33141121 Uhpwpnidwlul plibp Mnhwpnwhibl 2/0 9L hwin 169 600 101,4
3314121 “hpwpnidwilywl plitp Mnhuypnwhibt 3/0 K hwwn 180 720 129,6
33141121 Uhpwpnidwlwl phibn Tinjhwpnwh bl 4/0 9L hwin 180 480 86.4
3314121 Yhpwpnidwlwl phibp Nnjhqqulnpl O < hwun 309 900 278,1
33141121 Uhpwpnidwlwl ehjbp Minjhgjwlnpt 1 QL hwin 315 960 302.4
33141121 Yhpwpniduwljut phibp Mnhgwlupl 2/0 < hwwn 306 600 183,6
33141121 Uhpwpnidwluls philp Mnhguulunht 3/0 < hwin 309 600 185,4
33141121 Uppwpnidwliuls plitin Mnhgiwlmht 4/0 9< huwin 330 240 79.2
33141143 Untngh 250,0 9< | hun 168 500 84,0
33141143 Unlingla 1 9Z | hwm 680 240 163.2
33141183 “bpwlpdwl gnlin 6G,86 K hwn 44 600 26.4
33141211 Stuwnuhsh sbipdwhl pine 9 huwin 2425 80 194.0
33141211 Unwpluywlwt wwwlh 2h$ qugnny < hwwn 6,84 18000 1231
33141211 Dwdljuwwwih S< hwin 1,86 18000 33,5
33141228 Punhlwunp onwiht unbiphjhqugnuing N1000 9L hwiwn 6900 12 82,8
33141228 Punhljwunp gninpshny uwnbiphihqugnuing 9L hwin 0 6 0.0




33141201 Pwluhiubp 9< hwn 0 60000 0.0
33141202 Pwfuhutip 9L hwn 2,8 20000 56.0
33711480 Nwhwwbwllibp 9< hwin 0 12000 0.0
32351230 Mgt dwuwyun|bl 30740 < hwwn 0 4000 0,0
32351230 Mg dwwuntb 30°40 G hwn 323,3 1000 323,3
33141136 Uotshpughnl pbnbribrfenh 9% | hun 0 50 0.0
hwuwbbihniewy
33141136 Huhughn upbunb/wnR$Enhg % | hun | 405000 3 1215.0
hwuwbbhnyswidp

33141136 Uhypnlwpbintip < hwin 0 20 0.0
33141136 Lbpnidhypnywpbnbp < hwin 0 50 0.0
33141136 Lbypnidplpnlwpbnbp 9L huwtn 189000 Z 1323.0
33141184 Lbjpndhlpnguibn K< hwtn 0 30 0.0
33141184 Ltypndhlpngusbin < huitn 124300 3 3747
33141137 Puintiwiht Guipbinp 3 < huwtn 0 50 0,0
33141137 Puynbwiht Ywpbup OTW Q< hwn 0 5 0.0
33141136 Sy Ywptnp 2 K hwn 0 70 0,0
33141211 “wunwlh Glignn Ly < huwn 0 50 0,0
33141211 Trwunwlh Glignn Gy Rl hunn 3900 50 195,0
33111310 Hnwwwn unbbin 4 K hwn 0 30 0,0
33141211 Eibilipnn. nhpdwywn dwdwbwlwdnp uwnplinh A hwwn 0 2 0,0
33141184 “npnlwn Yuwybp 0,4-0,5q < hwin 0 120 0,0
33141184 “npnbiwp wybip 0,4-0,5q 9L hwin 26000 50 1300.0
33141184 Ynpnbiwn Jubp CTO Q< hwwn 0 10 0.0
33141184 Ynpnbiwn Juwibp CTO R hwin 40000 2 80.0
33141184 “npnbwn Juytip CTO | < huwin 0 5 0.0
33141184 Ynpnbwp Juykp CTO 1 < hwin 55000 2 110,0
33141184 “npnbwp Juybp CTO 2 Ras hwin 0 5 0,0
33141184 Ynpnbwp duyhp CTO 2 K hwwn 58000 2 116,0
33141136 Uhbpnlwpbiup Ynpntwnp wlnph < huwin 0 5 0,0
33141137 Puinbwhl Yuph D qwdpwinndhy K hwin 0 60 0,0
33141137 Punbwhl Yupbinp guidpupndh| G hwun 32000 30 960,0
33141137 Puintiwjhl Ywpbinp qudpwnnbhy NC Q< hwwn 0 100 0,0
33141137 Puwnbiuhl Ywpbnp gudpwpndhy NC < hwn 32000 50 1600,0
3314137 Puwintiwjhl ywpbinp gudnunndhy OTW < huwun 0 10 0.0
33141137 Pwinbiuihl wpbinp gqudnwnndh) OTW e hwn 32000 5 160,0
33141208 blwnpwnnutip Pbdnpw (Yuips) < hwwn 0 4 0,0
33141208 Puunpuwnjniubp $bdnpu (Ywné) < hwin 10000 2 20,0
33141208 hunpwnnutip Pbunpwy (bplwp) S hwin 0 4 0,0
33141208 huwnpwnynwbp $tdnpwy (bplwp) 9L hwtn 50000 2 100,0
33111310 Uunbln whinh$liphly s hwin 0 20 0.0
33111310 Unblin whph$liphly 9< hwn 250000 10 2500,0
33141137 iwinwghnb Ywpbntp whbph$tiphy s hwin 0 50 0,0
33141137 Fhwinwghnl Yupbinbip whph$bnhl < hwin 50000 25 1250,0
33111310 Ninnpnhs wp < hwin 0 20 0.0
33111310 Nunnpnhs wp 4L huwwn 9000 10 90,0
33111310 Minnnpnhs jwp QL hwn 0 4 0,0
33111310 Mnnpnhs jwp < hwun 23000 2 58,0
33111310 Nunnpnhs wp 9L hwn 0 2 0.0
33111310 Nunnpnhs jup < hwn 47000 1 47.0
3311310 Munnnpnhs qp 9< huwin 0 2 0.0
33191310 “nbiwdl hwuinwlny 14d; thnpdwline 9L hwun 0 500 0,0
38431710 Mhubun wwunbph 4L hwn 30 1000 30,0
38431710 Ugunndwin whiybun Ywpnghly 100-10004dYy; < hwn 7790 4 31,2
38431720 Mhuwtunh dwipwnhp $hywpny < huwin 15,625 384 6,0
33141136 Lbpwpqulinuiht Ubnwplidwl Yuptnbp s hwin 0 100 0.0
33141137 Ubpwngulinuht Ubpwpldwy Ywpbnbp K hwin 5850 50 2925
33141130 Swpw wlwihah ng uwnbiphy 1004y < hwin 32 6000 192,0




33141410 Swpw wbwihgh winbiphy 1004 G< hwun 34 4000 136,0
33141202 tUS-h Ebljnpnn QL hwin 50 20000 1000,0
33141202 Ejbyunpnng wubnuhty < hwn 1920 50 96,0
33141202 Eiblunpnn dwybpbuwht dly/ogin 9L hwn 150 72 82,8
33141202 Biblnpnn wwupy QL hwn 28000 2 56,0
33141202 Lnnuiligdwl jwp < huin 34000 1 34,0
33141136 “wpbintp dhauihli bwéjnig 206 9< hwin 350 160 56,0
33141136 Ywpbinbp dhquiht bnwéjniy 186 < hwwn 350 60 21,0
33141136 Ywpbnbp wuwhpwghnl q< hwn 103 1200 123,6
33141136 “Ywpbinbp tdpnitnndhwih Snquipunh nhujh < hwin 16500 15 2475
33141100 U”““‘““““"“ﬁ‘:"‘:};&“‘““ PouR-tiphq 9 | bun | 150 5000 | 750,0
—aQuniyndbnph
33141142 Ubpwplhstbp 50,0 K hwin 90 3000 270,0
33141142 Lbipwplyhstbp 60,0 < | humn 100 800 80,0
33141138 Hmb;ma:bbuqhh A hwn 200 1000 200,0
33141138 Suilinyuw ppwjhl < | hwin 15000 2 30,0
33141157 Lonwplbp b uwpbp Q< huwun 30 1000 30,0
33141112 Uwbinulh uwlnwihly K hwwn 7 10000 70,0
33141110 Uhpuwlwubn/ Shuuulwy 3072000 < | hum 650 720 468.0
33141120 Ubindhsutin S<_ | hum 80 1000 80,0
33141211 SBuwig 6nndudph %< [ hwn | 10000 100 1000,0
33141205 Eunnuipwhubivg funnnyuily dwbidtnng < hwn 450 500 2250
33141205 Eunnunpwiubug funnnyuwl 9< hwin 500 80 40,0
33191620 Suhsh pninp 3< | huan 1200 120 144,0
33161100 Eunndhpwpnidulyul Ywpnn wnbn 24GH < hwtn 15000 25 375,0
33191310 Unbwdl hwinwling 114 thnpawline < hwin 579 500 289.5
33121180 Snundbunp unbnnuljnuny 4L huwin 7000 80 560,0
33141121 Uhpwpnidwlwl phibp MNniquuywnhu 5/0 K hwin 670 180 120,6
33141182 Ypbbwd bnwdnpubh T-34 9% | hun 6600 30 198,0
33141184 (3nph npbuwdh thwlwl < hwwn 6800 30 204,0
33141182 fangb npbuwdubp L hwin 4200 40 168.0
33141182 Npnyuwjuh npbbwdubn uunbphy 9< hwin 1800 300 540,0
33141136 Yblupnbiwlwy Bpwluwh Yupbunbp 4L hwin 7200 50 360.0
33141155 tthmnnuanmuygbnh nuwbiwl < hwwn 1000 500 500,0
33191310 Ppdwbinplbp pnpnupihwnuwght 9< hwin 60 1000 60,0
33191310 Pnpdwlnplbn W fwubi byblngnn$ 1,501 9 huwin 10 6000 60,0
33191310 Pnpdwlinph vy npwlvwnpuwiht fudnis < hwin 150 1000 150,0
33141183 2nun unwinpuwihl < huwn 103 1000 103,0
3314121 Ennunh thwljwbing < hwun 180 200 36.0
33141211 Mhwbwnubp FLU Q< hwin 200 500 100,0
33141179 hudblynndwinh hwywpuwdn < hwwn 28 000 80 2240,0
33191620 [@ninp 48T 150°110 < hwun 2600 60 156,0
33711490 MNuwhwwbwlbn el hwun 60 12000 720,0
33141157 Uhypnundh stinp QL hwin 1300 300 390,0
33191280 Nuwpwphbwgbng dbnwnulwl unwuwnp K hwin 21 000 3 63.0
33191620 Uwiuwi Ubipddnn Gulwihwpbp < huwiwn 1500 50 75,0
30232160 Rbpdushls inughs EUs hunn 500 000 1 500,0
33191480 Lbpwpldwt uwpp YnUinpuwunwipli Wnish tus hww | 12 500 000 1 12500,0
33141202 blnpnn wubnuiht EUS | huwn 1920 50 96.0
33141202 Bilunpnn dwlbpbuwhl duy/ogin tus hwn 1150 72 82,8
33141202 Snnuitigdwl jwp tus hwiun 34 000 1 34,0
33141202 Bilnpnng wwuhy Eus hwn 28 000 > 56,0
33141138 Hwlnyw ppwihl Lus hwin 15 000 2 30,0
33191310 Unwdl hwinwlng 114; $inpdwbinp tus hwin 579 500 289,5
33141142 dwiibh Ubpwplhs tus hwn 25 000 3 75,0
33111490 24U onwp dwpiduh htnwguwb Yhnhy Eus hwin 2 000 50 100,0
33141211 Upunwdshg Ynwgnywinnph dblwbiquidjw Swypwnhp Eus hwn 8 000 100 800,0




44311290 Lbpnpwiiblnpnn/ wwuhy Eibywnpnn tus hwn 1500 50 75,0
30237475 Qbpduwihu ndhs Eus hwwn 100000 2 200,0
38431700 Snuywdpwpwliwljul Yuwubinlibp tus hwun 50 2000 100,0
33141201 Puwlupubip Uu hwin 6 16600 99,6
32351230 MHabungbli dwuuftt 30°40 (N 100) UU | huw | 38500 15 577.5
38431700 Uhlpnunndh gbinp N50 uu nnuh 65000 3 195,0

33141142 Lbpwplhs 1q Uu hwin 20 5000 100,0

33141121 Yhpwpnidwlwy phy wnihwpnwhbl uu huwn 315 312 98,3
34141173 Ubgplinnilips UU | hun 51 1800 91,8
33141140 Uuujhpuwghn Guipbun UU | hwn 103 970 99,9
33791300 Prpnuhjhywnwght thnpdwlng uu hwun 60 500 30,0
33141149 Shurnnywihl wubnubp quplbpwluht uu hwun 200 250 50,0
33141149 Shunnywiht wubinubip Gpwljuiht uu hwin 200 250 50,0
38431700 (Gbpdndwuwyunty uu hwn 3400 40 136,0
31651200 EUS dwuputu58*20 uu huwin 900 450 405,0
38431700 Eublnnpd/ (wpnpnnnp wwpwqu uu hwun 10 2000 20,0
38431700 @ninp 4S9 150*110 uu hwin 2600 20 52,0
24931500 bpluwlhs UL | hwn 8100 12 97,2
24931600 “uyniliwgnighs uu hwwn 8100 5 40.5
33141183 Ynwidnpuwht gnun uu huwin 103 970 99,9

9221200 TNwpwhhts uu Ug 3350 40 134.0
35121290 Syhs SPO2 NEO 3 uu huwin 15000 6 90,0
Cunwdbkup 393626,0

£hUbULUL L3NKBEN
33211450 Ujpnudht < rhup 0 7000 0.0
33211450 Upnuiht | phup 1104 1000 1104,0
33211430 Uibw wiipiwqu < phup 0 2000 0,0
33211430 _ Ubw withpugw L pbup 169,8 1000 169.8
33211410 qunmwwdhbnmnmhu&bpmq AST < pbup 0 7000 0,0
33211410 Uuyuy fhunuputiudbpwg AST < | phup 21 2000 42,0
33211420 ulwbhbwdhbnmpwbuwnm[ ALT < phup 0 8600 0,0
33211420 u;wbhhwdhhnmpwhuﬂ)hpwl ALT < pliup 21 3000 63,0
332m140 | PPPNERU/CURLRN : "‘“u"‘“ p;"‘"""‘""" LS ™ 0 21000 0.0
1) L
33211140 p"“"‘"""‘wm"'"“‘::"‘ :u"‘"l“"‘“ “:n"l‘""“"“"' bt T [y ps 10000 | 2160
—RLUR-hwdwpwdn
33211340 <tiungynphts < phup 0 8000 0,0
33211340 <bdngynpht < pRhup 5,85 800 4,7
332mo | Vonhuwupnhl MediScreen /UTah dbs qunignah o< | ptup [ 1776 8400 149,2
wabinnbh npnodwl phup unphwbtinh hudw L
Ubinhwupphl MediScreen /Ubgh dbg qumiyngh, wpjul,
uhinwlnigh, PH,Ytunnblbiph, nbuwlwpwn lznh,
3321mo Upwnphuntibiph, (hnghuintibph, ninnpnphtpgbup b 9< phup 65,4 5000 327,0
phihnathth npnadwl phup unphuibiph hwywpwdm
CYAN strip wuwpwinh hwdwp
33211160 | Ypbunhbihli CREA-Col/ Unbwnhbtsh npnpdiuts phup | 9< | phup 9,15 25000 28,8
33211160 Ypbuinfbpl Ghbwaw < | ptup 0 2000 0.0
33211160 Ypbuwnhbpl Yhbwgqw < | ptup 150 1000 150,0
33211310 fepndpnwwunhlih npnouwy Rrhup hwdwpwdn K phup 0 24000 0.0
3321310 fSpndpnuywuinhth npnodwl Rhup hwiwpwdnt <L phup 5 12000 60,0
33211150 | Uhquilyyni Urea-Col / Uhqujniph phup - hwywpwdni|  9<¢ pbup 0 15000 0,0
332150 | Upquityyni Urea-Col / Uhquityniph phup - hwjwpwdn.| 9¢ phup 27 7200 156,2
33211320 <Ewunnhin C dhpnuuf wbhqBUR npullwh a< | ptup | 10296 | 8000 | 8237
Lhujunhn g?{hﬁ?\zhhmgagqm:’h npwlwlwl
33211320 e S < pbup 66 8000 528,0




<bwwwhin C Jphpnwp wlinhqbuh  huyntwpbpdwy

211321
33211320 _ . < pbup 104,17 1728 180,0
b B
33am320 | SHunnhn B dbnnih wWlanhqBUR it % | ptup | 1375 1728 196,6
Rliup
33211130 tunibunbipn| CHOLESTEROL /Cunhwinip ac piup 0 4000 0.0
njbunbiphtih phup-hwdwpwsdn:
332130 funjtuwnbipn; CHOLESTEROL /Cunhwbinip 9¢ e 2 1000 2.0
njuntiphtih phup-hwiw L

33211130 funjbuwnbipng /HDL- funibuinbphl 9< phup 0 400 0.0

33211290 Ywihnuwh npnadwl Phup-hwywpuwdn, 9 phbup 0 18000 0,0

33211290 Ywihnuh npnodwt phup-hwywpwdnt < pbup 93,6 1000 93.6

33211300 “wighnwh npnadwl phup-hwiwpwdnt 9L Rhup 0 3000 0,0

33211300 Ywighnuih npnadwt RrhuR-hwwpwsnt 9< phup 21 1000 21,0

33691162 Lwwphnut < pbup 0 800 0,0

33211290 Lunnphnud < pbup 319,95 200 64.0
(ml{wumnblqmnmhqhh»o Anti Streptolysina-

33211260 O/Cmeumnhu'mnmqhh-O npndwl phup- Q< phup 26,4 1500 39,6

33211270 Snunwy wnnunbhl-ln; Total protein-Col/Crhwlinip ac v 0 7000 0.0
uuihwniwlnigh npnodwl up hwiw

3321270 | SMMLWNRABRL-ny Total protein-Col/Chuwbing 9 | pue | 888 | 3000 | 266
uwhnwlnigh npnodwl hwdwpwdny

33211470 Spnwynbpl/whun yniphn/ 9< phup 0 1000 0.0

33211470 Snmqnhhh/m]um.hjmpbnl L phup 3228 500 161.4

Mudwunnpr Sulhumnp Lwinbpu Rematuoid factor-
33211240 lex/MHudwinnhnwghty $uwlnnplbiph npnpuiwl phup- q< Rbup 25,68 2000 51,4
— hudwowdny
33211120 | 9yniyng G-col/gyniynah npnpuiut phup-hwwpwdny < pbup 0 25000 0,0
33211120 | Yyniyng G-col/gyniyngh npnodwl phup-hwwpwdny < pbup 9,24 6000 554
S-nbwlnhy wnnunbhli-jwnbipu C-Reactive Protein-lex/C-

1 : 1 2
s nbwlinhy uyhunwlngh npnUwl phup-hwywpwdng ks i “hes =0 S
3321230 |V unenl RPR C:f:"ﬂ""’"‘”" R 9 | s | @ 5000 | 1650

n
33211190 Sniplint wlnh-A /wpjuwb fudph Il npnjdwt pbup 9< phup 24 12000 28,8
33211200 Snjhlynt whunh-B {wipjuits fudph 11l npngdwt phup QL prbup 24 12000 28.8
33211200 Snjhlynt wuinh-AB < phup 3,96 1000 4.0
33211220 Bnjhlynt wuwnh-Unuybip/ rh D nbigniu hwdwlwngh ac phip. 48 12000 57.6
Uwnhabbh npnodwl phu
33211210 Snjhlynu whunh-Unwybp/ rh C nbigniu hwdwlwngh ac¢ phii 9 1200 10,8
wlinhablh npnodwl pbup
33211180 Sphqikighphn TRIGLECERIDES/bnqmgbnhnh npndwl a¢ v 0 2000 0.0
phup-hwdwpuwdn
332mgo | Snhatbahnhy . o o IR [P e 50 | 25
W L
Npnunwn uwbgh$hly wlnhgblh npuwluwljwl o
2 0.0
SN0 npnuwil phue- hwwpwdnyPSA plinhwln o pbup P £
Tpnuunwn uwtigh$hly wlinhgbuh npwljwljwy 127 192 2%5
il npnodwl phup- hwyw PSA plnhwling i i i £
33211350 @hptinunpnwy hnpunt HTSH L phup 0 2304 0,0
33211350 (Ghplinnpnwy hapdnt HTSH s pbup 135,63 768 104,2
3321370 @hpopuht T4 9L phup 0 384 0.0
33211370 fGhpopuht T4 K phup 171,875 96 16,5
33211370 Uquin phpopuhl FT4 < phup 0 152 0,0
33211370 Uquin phpopupl FT4 < phup 159,375 768 1224
33211380 Gnynnphpntipl 73 QL phup 0 288 0.0
33211380 Snynnphpnuht T3 < phbup 177,083 96 17.0
33211380 Uquwn bnjnnphpnupl FT3 < phup 0 288 0.0
33211380 Uquwn baynnehpntiht FT3 Q< phup 165 96 15,8




Anti TG-Cwlwdwndhtltn Rhptinginpnyhtp

33211390 bl K pbup 0 576 0,0
33211390 At TG-CulyundupdhUtn phrbngmRnahun % | ptup | 165625 192 318
Ulwindw ‘ :
33211390 Anti TPO-Cwljwdwpiplutip Phpbnujbpopupnwgh 9¢ g 0 960 0.0
< Ubwindwdp £ :
332m3g0 | A TPO-Culwduindhtuti phtnuGropufeh % | ptup | 1625 | 384 624
Ulwindwp P x '
33211280 Ppniglingh npnpdwls phup hwywpuwidni < | phup 0 200 0,0
33211280 Ppnigtiingh npnaduwt phup hwywpwén Q< pbup 240 100 24,0
33211170 Uhquppnt UricAcid/Uhqupreuh npngdul phis % | pbup 0 1500 0.0
h wdng :
332z | Vhawepn UricAcid/Uhquippdh nnnpdut phup- 9 | pp | 262 1200 314
hwywpwdni
33211430 Swddw gynunwihy npwiubbipwqus < phup 58,5 1000 58.5
Lwpnpunnnp wqubjmphn/nhwqhhmhhn/ (Ghup ! 1
e Unwbpnul pupligwd wpiniin nanghin: hudus = | v e e 9
33691162 Lwpnpwunnp wanwyniphp/nbwqblinubn/ LDH-L < phup 0 2000 0,0
33691162 Lwpnpwinnp wqr;mb‘mphn/nbwqhbmbbn/ LDH-L 9L pbup 24 1000 24,0
33691162 | Lwpnpuinny wonwnpbp/nbwgbunbbp/ Snuap | < | phup 35 1200 42.0
33691162 Lwpnpwuinnp wanulnipbin/nbiwgblntbp/HIV- 2hU< < phup 177.6 5000 888,0
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44521100 Ynnubp 9< huin 2000 3 6.0
44531193 Hngnunt whlyniuwl < huin 700 20 14,0
44163200 Ynjnunt whignu e hwn 700 6 42
44163200 Ynjninnt Bnwpuwohuhs Q< hwn 1000 9 9.0
44163130 “nynunnt funandwl F110 0,25 g 2,204 < qdu 450 5 2,3
44163130 “ngninnt funnnduily F110 0,254 1.5dd < qdu 300 3 0.9
44163130 Unynunnt funnndwly 7110 0,5 6 2 544 < qdu 900 5 45
44163130 Ynjnunne furnnduwly FI10 1 4 2,540 9L qdu 1500 5 7.5
44163130 Hnynunt funnnduwly FI10 2 o 3 249 R qdd 2700 5 13,5
44163130 “nninne funnnywly F110 3 g 3,204 < qdu 4000 2 8,0
44163130 Unjounnt funnnduily F50 0,34 1,504 3L qdu 280 3 0.8
44163130 Snnnnd funnndwly F50 0,54 1,504 <K qdu 350 3 1,1
44163130 Ynjninnt funnnyuwly F50 14 1,504 < qdu 550 3 R
44163130 Ynjnuinni funanduwly F50/2 1 < qou 850 8 6,8
44163200 “njninne fuguwt < hwin 400 K 1,6
44163200 Ynynunt dnihin < hwwn 320 6 19
44163200 Ynynunnt nlihghw F100 Q< hwtn 2500 5 12,5
44163200 Ynjninnt nnnu 5 dbuipwung 9L hwn 2000 2 4,0
44112730 “unpnn ulwywnuwl < hwun 700 50 35,0
44511700 Lwppwrnipp < hwin 2000 4 8,0
24911300 Lbnnuy dbpu < hwun 800 20 16,0
44831300 Lbpdbunhly/ wynnljudh tipdwluwyni < hwin 1000 10 10,0
18141100 Abnting pwldnpuwljul Q< qnyq 300 100 30,0
39839300 il phuly < huwin 5000 6 30,0
39541170 Bnywl Q< Ubnp 300 70 21,0
24911500 Uk unuhlia 100q K | hwin 2000 30 60,0
44191700 Ubinp 5 § 9< hwn 2000 3 6.0
9211620 3nu 2 wwlnwbh 1 < hunn 2500 3 7.5
44423680 Lwuunnlyu $hgnintsh < hwin 300 10 3.0




44111413 Lbipy wgbnnbiwht hhupny tulihd Lus hwiwndbp L g 4000 25 100,0
44411740 Luwnwlynlip q< hwwn 35000 5 175,0
44411740 Lumwmqwmwm < huwin 4000 50 200,0
44411751 Lunwlntiph oph nuwipwih Ynduwbln/pusnlgh A hwin 5500 60 330,0
44521100 Cyligwn nnwb Q< hunn 10000 10 100,0
42131100 Muwnnthwish thwlwl /wpn QL hwtn 600 100 60,0
44423650 _Mwlih wnjhidbpuht (ntinhub dwuwbliwpbibn) K hwin 600 20 12,0
31221242 My ynuyby /60740 < hwin 6 1000 6,0
44163121 Ty, funnnguly F20 $njqe jjwun K go.d 500 40 20,0
44163121 My funnnyuwy F25 bniqujwuyunn < qd.0 710 40 28,4
44163121 M. funnnywl F40 $njq jwin 9< qb.d 2000 12 24,0
42661200 M| unnywlih gnnduwts uwpp G hwwn 20000 1 20,0
4453191 MnLdjw funnnyuwly 0,84 9L qdu 1500 60 90.0
44531191 Mbdjw funnndwl 0.2244 q< qdd 4500 120 540,0
44163200 Tindju funnniwih whiyndwl 90 , 0,80 < | hum 500 20 10,0
44163200 Tl funanguih whilymtl 90 , 02209 A< q5u 800 25 20,0
44163200 Tinudjw funnnywlh bnwpuwiptuhs 0,2204 < hwn 1500 6 9,0
44163200 Tntdjw funnnywlh bnwpuwituhs 0,804 q< hwn 1500 10 15,0
44163200 Tinudju funnnywlh qnaduls wnhuyng Qc hwwn 400 30 12,0
44163200 Mnudjw funnngwlh Ygwidwu 0,224y q< hwin 500 50 25,0
42121150 Mndy 9L huwn 16000 5 80.0
44191700 Ming piniigh 9 hwn 1200 20 24,0
44191700 Tng puwhh q< hunn 1000 5 5,0
24911200 MUU unuhlia 0,9q < hwn 1500 5 7.5
44531160 Munnunwly cemeyxa < hwin 3 2 000 6.0
44511330 Munnunwlwhuwtih hwywpwdn: §< hwin 8000 5 40,0
4213170 Wnnigdwl hwlwl < hwin 1500 85 127,5
39721510 Lnuinwpwgny < hwwn 50000 2 100,0
42131170 2nh hwlwl / 3/4 < hwn 2000 10 20,0
42131170 Sph hwlywl /wnlyn < hwn 2000 30 60,0
44411110 2ph fuwnbhsw;ht dnpwly 1 nbnwth < hwin 3000 100 300,0
44411120 2ph dnpuily iplnbnwih < hwun 10000 30 300.0
44411120 2nh dnpuly bplnbnuh wwinh Ynwih < hwn 10000 20 200,0
MHwnhub nnywl dbnwnnd wdpwdnpdws 6 nn,
44163170 Pl unneuul g ju i oo, [ o qod | oo 150 150,0
44163170 Mtanhlb funpnduwl uhihlyntihg Q< qdd 600 100 60.0
24951130 Uhihlynt 2804 puudhwi Uy < huwin 1000 120 120,0
30192233 Uhihyntib pwipwyy dnnhy R hwn 150 20 3.0
42131490 Uh$nb/ biplwpny < huwn 1200 100 120,0
44191700 Uthpbij-punip nbhybipuw 9L hwin 3000 2 6.0
24911200 Unuhbé bunpuhn 6 Uy Qc L 1000 5 5,0
24911300 Unuhlid bwhphpe Ywd hwiwpdbp < | 2600 2 52
24911500 Unuhtid punh 0,8lq 9< hwu 4500 2 9.0
44192100 Ppihnip 2hbwpwpwlwy 8500 < hwin 2000 20 40,0
42511124 Onuwlgph Swnwown < hwwn 800 25 20,0
39714100 Onwipinfuhg 9L hwin 7000 4 28,0
44511330 B wyinnunwlwhwt 20V K huwin 40000 3 120,0
44511370 b Wunnunwlwhwbh giluplubp 4L hwwn 400 10 4,0
43121190 Znpuinhs %< | hum 50000 3 150,0
44511400 Snpwnhsh Qujihynt F5 < huwin 600 10 6.0
44511400 Snpwnhsh quiihynt F6 < hwun 800 10 8,0
44511400 Snpwnhsh quhlnt F8 G hwtn 1000 10 10,0
44511400 Snpwnhsh quiyihynt FI10 K hwin 1200 10 12,0
44511400 Snpwnhsh quithlint F12 XK hwin 1500 10 15,0
31641217 Sn$pbh ubndwl FI6 < hwin 20 200 4.0
31641217 Sn$pbh ubndwy F20 s hwin 25 200 5,0
44511100 Utinwnh dhpwn 9| hun 3000 3 9.0
44511370 huwpinngutinh hudwpuwdn QL hwwn 3000 2 6.0




44191700 wdth Yuwnquwnnhsh d [ hum 100 100 100 |
44411110 2nh Snpuwl dbl wbnuwh < | hun 3000 100 300,0 |
| 44191700 Ulpwin Wjwuwnhly funnnyuwlisn Ywnpkn Q< hwn 5000 2 10,0
44191700 Luunuliniph gnpt A< | hun 2000 10 20,0
44112800 Shwunnnyul 9< huwn 1000 40 40,0
31683400 Mywuinhly funnnyuwlh Yguidwu / Snwpwghuhg 172 9L hwin 100 50 5.0
44163200 Mwunhly funnnyuwljh Yguidwy/ wblyniiwly 90° 172 K huwin 100 100 10,0
44163200 Miwuinhly funnnduh Lguiduw wugn 172 < hwtn 50 100 5.0
44163200 Mywunhy funnn wih Yguwy/ wllyniiwly 45° 12 q< hwin 100 60 6.0
31683400 MNiwuwnhl funnnyuw wiwy / bnwpwoluhs 3/4 < hwuin 150 30 45
44163200 Mywuwnhly funnnywlyh Yowdwy/ whlynwly 90° 374 < hwwn 100 50 5.0
44163200 Udbiphyutilus Wiwunhl funnndwih 172 /dwde q< hwin 1000 30 30,0
44163200 Udbphluwbilus Wiwuwnhl funnnwlh 3/4 dwdw < hwn 1200 20 24,0
44163200 Mywuinply funnndwlih hguwdwe/ 7L 12 Fdwdw 9L hwwn 500 50 25,0
44163200 Mwuwnhly funnnyuwlh Ygwiwy/ wugnid 1,2 F/ tundw Q< hunn 400 50 20,0
| 44221141 “nwb pabwl wynuhut 9L hwn 6000 15 90,0
44221141 “Inwb priwy bphwpiw b qnyq 3000 10 30,0
44521120 “Hwb thulywh Unduybiljn huwjnjw K hwin 10000 10 100,0
44531110 Min, Y thwpwnh 50 gy < huwn 10 1000 10,0
30192230 Ulng binllynndutip < hunn 1000 20 20,0 |
31221241 Ynipby ghwub undwnweneh/ nnn q< hwin 30 1000 30,0
44161160 BRrYwdlp Pwpdp St funnnduily 90 uyg EUs huin 40000 20 800,0
44161160 | @pywdtip Pwndn Gugduwl hwugnyglbiph hwdwpwsén [ EUA hwin 11000 20 220.0
42418100 Ubnbijwlh 6buywy uu dtnp 1050 152 159,6
44221140 Uynuihti phpdnwinguwlny nnin Uu ? 120000 4,8007 576,1
44221100 Upnuihub REpUnywdpgwlny wuwinnthwy uu v 90000 4,1966 377,7
44221100 Ubinwnuywub hwy uu hwin 25000 1 25,0
44221120 Uywib thwpbp biplpbpin uu g 10000 2 20,0
| 44531191 funnnguly funpuwtiwpnwat uu IS 1100 90 99,0
44551100 2uuuitiwly uu hwwn 800 100 80,0
39522290 b!.[pnu‘u.nmmhtuhbbnh Unduwilyuwuyuwsunuguwl guilig uu hwin 7000 14 98,0
Cunwikup 9058,4
ELBUSPULYUL UUrLudnrirLenR, MUrUSULLP, SNPoheLLP
31531660 Lbn jwiwy E27-30w < hwin 730 30 21,9
31531660 Lbn jwiy £27 50w < hwtn 1380 30 41,4
31531660 LED juny ubpnpyng K hwin 1200 50 60.0
31531660 LED juduy ubpnpyng < hwin 4167 300 1250,1
31531660 LED juduy wpwnwphl < hwwn 6400 300 1920,0
31531660 LED ywiluy wpunwpht L huwin 1850 30 55,5
31531660 LED juiduy wnunwphl G hwun 3810 70 266,7
31531660 LED juyy 9< hwin 410 150 61,5
31531660 LED juiduy 9L hwin 1080 100 108.0
31531660 LED juidiy < hwn 280 300 840
31512300 Lwidyy gbpblyuht < hwtn 600 50 30,0
31512300 Lwduy gbpbljuihty 9L hwin 1800 50 90.0
31531210 LED jnwuwnnni 220V 100w G< hwn 4800 10 48.0
31531210 LED inwwuine 220V 150 9L hwin 8496 10 85,0
31531210 LED jnwwnnni 220V 60w < hwin 3300 60 198,0
31531400 LED owh 220V 120w 9< hwin 85000 2 170,0
31512300 Swingbl jwdwy 24v/25W < huwitn 7000 10 70,0
31512300 Swinghl jwiy 22,8V 50W,.G6.35 < hwin 19000 10 190,0
31512300 Swiingbili juiy 24V 25W, G635 < hwn 14500 10 145,0
31512320 ﬂwhmhphngﬁ& [ty < huwn 2400 50 120,0
31512321 pwhmhphngng (wiuy 9L hwn 4800 50 240.0
31512320 Nagbiynywinnp < hwn 75000 20 1500,0
31684400 “wpnwl Tnbn 9< hwin 300 30 9.0
31684400 “wpnwly Tnbin han. 9L hwitn 240 50 12,0
31684400 Hwpnwy 2nbin hnn, q< hwun 500 30 15,0




31211221 Upunwpht wligwinpy Tinbin < hunn 30 0,0
31211221 Upuinwpht whiguiinhg 2unbin Q< hwun 324 30 87
31211180 Hwhungh wligunnpg S< hwin 150 20 3,0
39713510 Upnniyh sbpduht wlgwinhs 9L hwn 1500 15 25
3121221 b wwpwgnighsh whip b 1 inbin 9< hwin 500 50 25,0
31211221 (=] nwpugnighsh wbiguinpy 2 wbin < hwn 700 50 35,0
31211180 Udwnndwin whigwinhg tdhs 220V 16A K hwn 510 20 10,2
31211181 Utfinniuwin wiigwiinhs wyhs 220V 254 9L hwn 480 10 48
31211182 Uunndwin wligwinhs ihs 220V 324 had hwwn 480 10 4.8
31211340 Lnuwliph Ywinquiynphs 220V-110v 500VA < huwin 12000 3 36.0
39715200 & nwpwgnighsh Jninny < huwtn 22200 15 333.0
39715200 wtmnqp 9< hwin 5000 10 50,0
42211140 tunhwlinguwiht Yunwpwy ubipnpynn_ 4unbin wuulyl < hunn 130000 2 260,0
39715100 Elwnpwlywl nby 9L hwin 0 4 0,0
44423680 EJ jwph dwinuljuy 1,5 < hwn ] 200 1,0
44423680 5 jwph dwjpwlyu 2.5 9L huwn 5 201 1,0
44423680 | quph Swinwlw 4 < hwn 5 202 1.0
44423680 5 (wph dwypwlu 6 K hwwn 10 200 2,0
44423680 b jwph dwypwlyw) 10 Q< hwn 15 200 3.0
31341200 Ei jwph Yibduply 1,5 R hwn 12 100 1,2
31341200 b jwph Ybdupy 2,5 9L hwtn 15 100 1,5
31341200 by juiph Lybuuhy 4 K| hum 20 100 2,0
31341200 & jwph Ybdupy 6 G< hwn 30 100 3.0
31331280 Hwpixi5 Q< dbnp 93 200 18.6
31331280 Blwni1x25 < dbunp 150 200 30,0
31331270 Buwp2x15 < dbup 135 200 27,0
31331280 Elwp2x25 < Ubwp 190 300 57,0
31331290 Ellwp2x4 9L dbwnp 366 200 73,2
31331280 Bwp3x25 9< dbwinp 480 200 96,0
31331280 Elup3x4 < dbunp 844 100 84,4
31685000 Gpywpwgdwy hqupqw[meLB unbin 9L hwin 630 40 252
31685000 Bplwpwgiwl hqupv}w[wmmp_lu wnbin S< hwin 870 10 87
31651400 Ublymuhy dwuywbt Bas hwin 150 300 45,0
44423671 Sndpl d16 9L dbnp 51 200 10,2
44423671 Sndpb ©20 < dbinp 57 200 14
31686100 Enwuhly hnnuibgdwt Yntnnipny Q< hwtn 180 200 36,0
31211221 Swnduwl nghy (nwnshly) 220V 10A < hwin 2480 5 12,4
3121221 Snunn nghs 220V 164 K hwtn 1550 5 7.8
39714200 Onnpuwlhs EUs hwin 140000 1 140,0
39714200 Onnpuwljhs tus hwun 200000 4 800,0
39714200 Onnpuljhs Eus hwtn 400000 1 400,0
39714200 Onnpuwlihy Eus hwn 300000 1 300,0
32551160 Lbnwlunutip EUs hwn 12000 14 168,0
39714200 Onnpuilihs UU_ [ hun | 270000 i 2700
42941190 Onwpwpnohs Elbyunpwlywy uu hwn 37500 2 75,0
31711380 BblnpndwqUhuwlwl Ywipnyp uu hwwn 15000 2 30,0
31442100 Ynunwlhs dwnunlnglbn UU_ [ hum 2500 30 75.0
42111230 2np bipdwiht wwhwpwih hm]wgngm uu hwin 8500 10 85,0
Cunwdbtip 10486,6
qunsLhe
9132200 Phughl, nbgniwn < | jpop 510 16000 | 8160,00
9134200 habwihl Jwnbihp, wi it s thwp 0 6000 0.00
9134200 Hhabjwhu Ywnbihp, wiwnwht < hwp 540 2000 1080,00
Cunuidbup 9240,0
UdSNUGRELULEPR MuULLUSUUUUEP
31421100 Uwpinlyng wynndtipbliwgh Eus hwn 40000 1 40,0
31421100 Uwpunlyng wyunndbipbliwgh uu hwun 40000 5 200,0
09211100 Puwninbip uu thup 1500 23 34,5




34351200 uqmndbghbmhbgp wuhyubn fwdwnuhty tus htum_l 30000 4 120,0
34351200 Udnndtaputitiph whiffubp /5dtmuwghty EUS [ hwn | 30000 4 120,0
Ehmmfhhn 4745
USSEINPOULUTL Lankpen =]
24441100 Mwihl wwpwpuwy nip uu g 250 50 12,5
44921200 Yhp uu lig 200 30 6,0
33691147 fbm!:wblnzpb;vpnmwphdhqwm uu |hinp 13000 7 91,0
Cunwibtip 109,5
deruLULSLNNULUL SNh3e
37421171 Vwpquwy qlnuwly 550 Eus hwin 4000 1 K
3742171 Ywnquwb qunwly 65ud Eus hwn 6000 1 6
37421171 Uwpqdwl qunwly 75ud Eus hwin 6500 1 6.5
37421210 Yty EUS | hun 13000 i 13
37421210 3hp pwpd/hblwpwnpé Eus hwin 7000 1 4
38621200 Lwybijh EUs hwn 50000 1 50
37421210 2nquihupn EUS | hwa | 105000 1 105
44423200 Uuwnh6uwl Eus hwin 20000 1 20
37421210 Yuwliglwly Eus hwun 87000 1 87
37421100 Onpmth}hli gnpg tus hwtn 30000 1 30
37451840 Duwilinng 0,2l S | hum 1500 2 3
37451840 Owlipng 0,54q Eus hwin 1700 2 3.4
37451840 waMq EUs huwin 2000 2 4
37451840 Dwlipng 2 Eus hwtn 2500 2 5
37451840 Owlipng 5g EUS | hum 4500 2 9
37421210 Euywunbn nuunwbh 304 tus hwin 4000 1 4
37421210 Euwuwitintip Quuywliwlyny 50uq Euns hwn 6000 1 6
37421161 Kuwintin dwwwdbl 20807134 50 US| hum 2000 i 2
| 37421161 Euwuwinbp dwwudb 2080°19*4,544 EUns hwin 2000 1 2
37431340 Uwpquwl hwbnblbpp hwijwpwéng Lus hwin 16500 1 16,5
33191200 Bbpwwlinply priduiwy ubnu Eus hwin 120000 1 120
37421210 Umﬂbnbwn hbdwlihy EUns hwwn 100000 1 100
42131130 __Swp uptp EUS | hwn | 5000 1 5
4213130 Uwnp thwebp Eus huin 2000 1 2
33151330 Ubynn-dluiiwgh uinhdnyunnnp tus hwin 20000 1 20,0
33141186 Luwhuwpuqbh hitul HUS | hum 7000 1 7
33141187 Pwllwy Eun hwin 15000 1 15
Cunuiibip 652,4
B UShiUSuLLLEP
45231119 Thuph dwubiwlp Ybpwinpnguwy woluwnwlipliin SPU | npwd | 163160700 1 163160,7
e i WuanthiUGERR & hupathg PUNWARRSUERF
45421110 b, huusnulpnen, Ul | spwd | 997500 1 997,5
45331113 e o e ::miﬂi ';I - e e Uu | npws | 166000 1 166,0
45231185 e "‘::'l’w = e ';1' i UU | npwd | 300000 1 300,0
45221147 | PRI ﬂm"’"‘“’;twq‘"nn'"n%{ i"""“‘{auw ] npwd | 1332000 1 1332,9
45251167 ""’q'm'""wﬁ S inl g Z:i'w[i mu:t: e T e npwd | 1866540 1 1866,5
W—L%“W‘E‘L, T
45311126 P It::;ut::iwa(:z il 9< npund 0 1 0,0
Cunwdbip 167823,6
DUNUSNAI3NRLLEN
79821170 Swwgpwlwt wnwpdwl Swnuwnipnittbp < hwin 3659000 1 3659,0
79821170 Swwgpulwt wnwpdwl Swnwinigindilibip uu hwn 365000 1 365,0
90521320 “hainulnguifl pudpnibnh 9 | hun | 24840000 | 24840,0
hwyw; nulhnfuwnpnud, neiswgnus
71351540 Shutihlwlwl hulnnnijut Swnwjnipy Lbbp S< npwd 770000 1 770,0
71351540 Shubhluwljuwl hulnnmipjwl btunwjmpjnmuhp K npwd 90000 1 90,0




50111130 Udnndtipblwtibiph YGpwlnpnguwl dwinwjniayniip K npwd | 4000000 1 4000,0
79211150 Unihunnpulul dwnuy Nl K hwin 1440000 1 1440,0
71351280 Splpwpwliwlut Swnwinipiniy K npwy 1500000 1 1500,0
63521200 Plntibiph hnfuwnpdwl Swinwjnuyainiy Eus npwd 600000 1 600,0
79411140 Uwpnluh nbuniputibph Ywnwiwpdub Sdwnwjnpiniu| - U npwd 990000 1 990,0
79211210 Sunpyuwuwhwlul Ybpwhulnnniginit Uu npwid 990000 1 990.0
79111100 Ppwwpuwtiwlwy Swnwnipintlilibin uu npwd 1000000 1 1000,0
75111200 Opblunpuilywl Swnuynipinis UU_ | npwd | 990000 i 990.0
32411130 Cwilwgulig uu hwun 936000 1 936.0
32411130 Swiwgulg uu hwtn 60000 1 60,0
65311100 Bblnpwlwinipul pwohunuf uu nhwd | 85640000 1 85640,0
65211100 Swgh pwotunul uu npwd | 17700000 1 17700,0
65111100 thh[MEmzfumd uu npwd | 12000000 1 12000,0
64211120 _Uhm htnwhunuwhl Swnwjniinitiibp uu npw 1170000 1 1170,0
90511120 “bugwnwiht wnph hwiwpwgpdwt Swnwinyagnitiip uu npwd [ 2700000 1 2700,0
50421100 | PO uuingrf donuslinping dul & pwhuidin: uu | gows | 6000000 1 6000,0
Swinwny mung
Uudwnnnbph Jepulinpnguiwl wnwjniayniibn’
111301
AR Ubnwniuy dnbnwdnud b hwiwuwpw nnuf e iz s : s
50111180 Udundbipblwbibph Ywgdwl dwinwijniainitiibp uu npwd 100000 1 100,0
50851100 wa_o.ummhnpnqdwb Swnwinyejniitibp uu hwwn 980000 1 980,0
45511100 Uiunnwonwpwlh Sdwnwinipinit uu hunn 100000 1 100,0
50751100 Ybpbjwlubiph Unpnquwt Swnwinipinil uu hwn 600000 1 600,0
50751100 B hpBLILUNoRY: gl UU | hwn | 290000 1 290,0
wldbwhwadh Jbpwwwinpwunnig
50311240 "'“’“‘m‘"h“"‘":::"‘“ﬁ&';:""“‘""""""""‘ UU | hun | 990000 1 990,0
—dwnwinipindiibn
72212300 Huypbiph wpnhwlwbwgdul dwnwjnipyni uu hwn 884000 1 884,0
724110 | A4BEROLT Ry TEh wenunndah UU | hun | 904000 i 904,0
Swnwininil
79521100 MNuibblwhwbdwl Swnwnpnd UU_ | hawwn | 750000 i 750,0
50531150 Swquujht uwppbph wwhuwwidwy Sdwnwinipini vu huwun 300000 1 300,0
90921300 Unbbinibph nbd Wuwjpwnh dwnwinyanilibp uu hwin 564000 1 564,0
90921200 Ubwuwinnibph nbd Wuipwnh Swnwnigini uu hwun 50000 1 50,0
79341100 Snywanuwihl Swnuynyainil uu hwwn 700000 1 700.0
Guipdhgutipni thnfuwnpwidhengUliph wwwhnywgpuiwl
11
66511180 s unblugbbiduwts Suanun s uu npwd 96500 1 96,5
92421100 |  (PbnRBA h”‘"’:‘"":“‘:"”"z“h"h O 1w | | e i 956,0
—_Ouwinwinuaimli
50341500 Ubdunwlignippul mhuwtusggghhnh uwwuwplynul / UOU- uu paan 180000 1 180,0
64111200 Pnunwhl bwnwjmpjm::bp Yuiwwd bwiwlbbph uu p—_ 150000 i 150,0
wn
79951100 Uhgngwnnulubiph htin Ywydwd Swinwjnyainiliibip uu i 994000 1 994.0
50311300 | <ubhs- ""‘“"“‘f""‘“"h‘u‘"“’h"m::‘d"t’"h R 1 npwd | 220000 1 220,0
66131100 Hdbeenf R w5 eyt Uu | npwd | 72000 1 72,0
Swnwinpiniy

Programming services of systems and user software
72211100 /wdwluwpgbph b oquuwgnpdnnh dpwapbph dawldwu | UU npwd 3390000 1 3390,0

Programming services of systems and user software

Mwdwlwngtiph L oquwqnpénnh Spwgntiph dawldw
u Dl 11500000 1 11500,0
Hane &unwjmpjnmhbn/t]qupnbwjhu wnnnowwwhwlywl o s ¢
hwidwywngh Uujuuwnlnui-Updtn
7524m00 | MnhUsbnepul Sunimipm VR / plnatmeeh Uu | npws | 600000 1 600,0
wiblionjw wwhwwlinysn

75241200 Nuunhluwbngaut Swnwjnipinitiup Ul nnwd 996000 1 996,0




Pdyly U |wpn, hwbbiph
85141240 Al ippasnn R Yndhg dumigin Uu | npws | 900000 1 900.0
Swnwineingy
Ui U & 3 b
71631110 | VPRSPR wAnGR SuwnwynoindER T g W UU | npws | 850000 1 850,0
unnignd, nnquiswihnud Iy swihwgnnu
1] hhduwpitiph Unnihg dwinmgynn
85141240 Podpulyi 137,
Bununipn/ Uhspndbiluplmi Swnuyonts | YU | nows | 25137000 1 25137,0
50111130 Udunutipblwitiph Ybpwlinpnguwl Swinwjnieinitibp uu huwn 100000 1 100,0
63721180 Clln il opyEAUENR GnthnRuquit/ Ut | hun | 6000 10 60,0
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